Recipient Committee Campaign Statement Cover Page (Government Code Sections 84200-84216.5)	Statement covers period from 01/01/2021	Date Stamp  RECEI  OITY CI  (Month, Day, Year)  Date Stamp  RECEI  OITY CI  21 JUL 29	FORM 460
SEE INSTRUCTIONS ON REVERSE	through 06/30/2021		TA MESA
1. Type of Recipient Committee: All Committees —  Officeholder, Candidate Controlled Committee State Candidate Election Committee Recall (Also Complete Part 5)  General Purpose Committee Sponsored Small Contributor Committee Political Party/Central Committee	Complete Parts 1, 2, 3, and 4.  Primarily Formed Ballot Measure Committee Controlled Sponsored (Also Complete Part 6)  Primarily Formed Candidate/ Officeholder Committee (Also Complete Part 7)	2. Type of Statement:  Preelection Statement  Semi-annual Statement  Termination Statement (Also file a Form 410 Termination)  Amendment (Explain below)	☐ Quarterly Statement ☐ Special Odd-Year Report ☐ Supplemental Preelection Statement - Attach Form 495
3. Committee Information  COMMITTEE NAME (OR CANDIDATE'S NAME IF NO COMMITTE Costa Mesa Firefighters Association Local Committee  STREET ADDRESS (NO P.O. BOX)	•	Treasurer(s)  NAME OF TREASURER  Mark Martinez  MAILING ADDRESS  CITY STATE  Costa Mesa CA	ZIP CODE AREA CODE/PHONE 92627 (949)374–1854
COSTA MESA CA 92 MAILING ADDRESS (IF DIFFERENT) NO. AND STREET OR P.O. CITY STATE ZIP	BOX  AREA CODE/PHONE 627 (949)374–1854 BOX  CODE AREA CODE/PHONE 814	Luke Anderson  MAILING ADDRESS  CITY  Costa Mesa  CA  OPTIONAL: FAX / E-MAIL ADDRESS	ZIP CODE AREA CODE/PHONE 92627 (949)374-1854
4. Verification I have used all reasonable diligence in preparing and review under penalty of perjury under the laws of the State of Califor Executed on	nia that the foregoing is true and correct.  By  By	owledge the information contained herein and in the attached several and in the attach	

FPPC Form 460 (Jan/2016)

#### Recipient Committee Campaign Statement Cover Page — Part 2

COVER PAGE - PART 2								
	ORNIA ORM	4	60					
Page _	2	of _	195					

Officeholder or Candidate Controlled Committee			, . ooa	ot moudule	Committee		
NAME OF OFFICEHOLDER OR CANDIDATE		NAME OF B	ALLOT MEASURE				
OFFICE SOUGHT OR HELD (INCLUDE LOCATION AND	DISTRICT NUMBER IF APPLICABLE)	BALLOT NO	). OR LETTER	JURISDICTIO	DN		SUPPORT OPPOSE
RESIDENTIAL/BUSINESS ADDRESS (NO. AND STREE	T) CITY STATE ZIP	ldentify t	he controlling of	ficeholder, car	didate, or sta	te measure p	roponent, if an
		NAME OF	OFFICEHOLDER, CA	NDIDATE, OR PR	OPONENT		
Related Committees Not Included in the not included in this statement that are controlled to contributions or make expenditures on behalf of y	by you or are primarily formed to receive	OFFICE SC	DUGHT OR HELD		Į,	DISTRICT NO. II	= ANY
COMMITTEE NAME	I.D. NUMBER						
	1						
NAME OF TREASURER	CONTROLLED COMMITTEE?		ly Formed Car ler(s) or candidate(				
NAME OF TREASURER  COMMITTEE ADDRESS STREET ADDRESS (N	YES NO	officehold		s) for which this		primarily forme	
	YES NO	officehold NAME OF 0	er(s) or candidate(	CANDIDATE	s committee is	primarily forme	ed.
COMMITTEE ADDRESS STREET ADDRESS (N	YES NO	NAME OF O	er(s) or candidate(	CANDIDATE  CANDIDATE	OFFICE SOUG	primarily forme	SUPPORT OPPOSE
COMMITTEE ADDRESS STREET ADDRESS (N	☐ YES ☐ NO O P.O. BOX)  ZIP CODE AREA CODE/PHONE	NAME OF O	er(s) or candidate( DFFICEHOLDER OR DFFICEHOLDER OR	CANDIDATE  CANDIDATE  CANDIDATE  CANDIDATE	OFFICE SOUG	Primarily forme THT OR HELD THT OR HELD	SUPPORT OPPOSE SUPPORT OPPOSE SUPPORT
COMMITTEE ADDRESS STREET ADDRESS (N CITY STATE  COMMITTEE NAME	ZIP CODE AREA CODE/PHONE  I.D. NUMBER  CONTROLLED COMMITTEE?  YES NO	NAME OF O	OFFICEHOLDER OR	CANDIDATE  CANDIDATE  CANDIDATE  CANDIDATE	OFFICE SOUG	Primarily forme THT OR HELD THT OR HELD	SUPPORT OPPOSE SUPPORT OPPOSE SUPPORT OPPOSE SUPPORT

# Campaign Disclosure Statement Summary Page

Amounts may be rounded

Statement covers period CALIFORNIA FORM 01/01/2021

SUMMARY PAGE

to whole dollars. Page \_\_\_3 \_\_ of \_\_\_195 06/30/2021 through \_ SEE INSTRUCTIONS ON REVERSE I.D. NUMBER NAME OF FILER 1277067

Costa Mesa Firefighters Association Local 1465 Political Acti	on	Committee			1377067
Contributions Received		COlumn A TOTAL THIS PERIOD (FROMATTACHED SCHEDULES)		COLUMN B CALENDAR YEAR TOTAL TO DATE	Calendar Year Summary for Candidates Running in Both the State Primary and General Elections
1. Monetary Contributions Schedule A, Line 3	\$	18,380.00	\$	18,380.00	1/1 through 6/30 7/1 to Date
2. Loans Received Schedule B, Line 3		0.00		0.00	
3. SUBTOTAL CASH CONTRIBUTIONS Add Lines 1 + 2	\$	18,380.00	\$	18,380.00	20. Contributions  Received \$ \$
4. Nonmonetary Contributions Schedule C, Line 3		0.00		0.00	21 Expenditures
5. TOTAL CONTRIBUTIONS RECEIVED Add Lines 3 + 4	\$	18,380.00	\$	18,380.00	Made \$ \$
Expenditures Made					Expenditure Limit Summary for State
3. Payments Made Schedule E, Line 4	\$	11,368.45	\$	11,368.45	Candidates
7. Loans Made Schedule H, Line 3		0.00		0.00	22. Cumulative Expenditures Made*
8. SUBTOTAL CASH PAYMENTS Add Lines 6 + 7				11,368.45	(If Subject to Voluntary Expenditure Limit)
9. Accrued Expenses (Unpaid Bills)				2,195.97	Date of Election Total to Date
10. Nonmonetary Adjustment Schedule C, Line 3		0.00		0.00	(mm/dd/yy)
11. TOTAL EXPENDITURES MADE	\$	11,368.45	\$	13,564.42	\$
Current Cash Statement					\$
12. Beginning Cash Balance Previous Summary Page, Line 16	\$	53,286.83	То	calculate Column B, add	
13. Cash Receipts Column A, Line 3 above		18,380.00		nounts in Column A to the rresponding amounts	
14. Miscellaneous Increases to Cash Schedule I, Line 4		250.00	fro	m Column B of your last	*Amounts in this section may be different from amounts reported in Column B.
15. Cash Payments		11,368.45		oort. Some amounts in lumn A may be negative	
16. ENDING CASH BALANCE	\$	60,548.38	figu sul	ures that should be btracted from previous riod amounts. If this is	
17. LOAN GUARANTEES RECEIVED Schedule B, Part 2	\$	0.00	the for	e first report being filed this calendar year, only rry over the amounts	
Cash Equivalents and Outstanding Debts				m Lines 2, 7, and 9 (if	
18. Cash Equivalents See instructions on reverse	\$	0.00			
19. Outstanding Debts Add Line 2 + Line 9 in Column B above	\$	2,195.97			
,*			ı		FPPC Form 460 (Jar FPPC Advice: advice@fppc.ca.gov (866/275

FPPC Advice: advice@fppc.ca.gov (866/275-3772) www fnnc ca nov

Schedule A Monetary Contributions Received			ts may be rounded whole dollars.	Statement cove	·	CALIFORNIA 460		
SEE INSTRUCTION	DNS ON REVERSE			through06/30/20	021	Page _	4 of 195	
NAME OF FILER						I.D. NUM	BER	
Costa Mesa	Firefighters Association Local 1465 Political Act	ion Committe	e II			137706	7	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)	
01/04/2021	Steve Airev Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00			
01/19/2021	Steve Airey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00			
02/02/2021	Steve Airey	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
02/16/2021	Steve Airey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
03/01/2021	Steve Airey Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL\$	100.00				
Amount re (include a	A Summary eceived this period – itemized monetary contributions. Ill Schedule A subtotals.)				IND - COM-	(other th	des t Committee an PTY or SCC) .g., business entity)	
	eceived this period – unitemized monetary contributions etary contributions received this period.	s of less than ?	⊅ I ∪ ∪ \$ <u> </u>	0.00	PTY-	Political F		

18,380.00

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement cover	2021	CALIFORNIA <b>460</b> FORM <b>5</b> of 195		
NAME OF FILER			11_		, par	.D. NUMBER		
Costa Mesa Fi	refighters Association Local 1465 Political Act	ion Committee				1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	R TO DATE		
03/12/2021	Steve Airey Costa Mesa, CA 92627	IND COM OTH PTY SCC	Fire Captain City of Costa Mesa	20.00	240	0.00		
03/26/2021	Steve Airey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	0.00		
04/09/2021	Steve Airey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	2.00		
05/17/2021	Steve Airey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00		
05/21/2021	Costa Mesa, CA 92627.	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	0.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded Statement covers period CALLEORNIA 4 CO

Monetary Contributions Received		to whole		from01/01/		FORM 460		
			,	through06/30/	2021	Page _	6 of 195	
NAME OF FILER						I.D. NUN	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
06/07/2021	Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
06/28/2021	Steve Airey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
01/04/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/02/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		from01/01/		california 460		
				through 06/30/	2021	Page _	7 of 195	
NAME OF FILER			<u> </u>			I.D. NUN	MBER	
Costa Mesa F	refighters Association Local 1465 Political Acti	on Committee				137706	57	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
02/16/2021	Omar Amaya Costa Mesa, CA 92627	□OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	9	
03/01/2021	Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	2	40.00		
03/12/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/26/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	=	
04/09/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement cove		CALIFORNIA 460		
				through06/30/	2021	Page	8 of 195	
NAME OF FILER	0.1	E	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		I.D. NUMB	ER	
Costa Mesa F	refighters Association Local 1465 Political Acti	on Committee				1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)	
05/17/2021	Omar Amaya Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2.	10.00		
05/21/2021	Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	10.00		
06/07/2021	Omar Amaya Costa Mesa, CA 92827	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	10.00		
06/28/2021	Omar Amaya Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2: a	10.00		
01/04/2021	Lucas Anderson Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2:	10.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received			Amounts may be rounded to whole dollars.		ers period	FORM 460		
				through 06/30/	2021	Page	9 of 195	
NAME OF FILER						I.D. NUM	BER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	7	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
01/19/2021	Lucas Anderson  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
02/02/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	10.00		
02/16/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00		
03/01/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	2	
03/12/2021	Lucas Anderson Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT)

	A (Gorialia a doll Gridol)		_				BOTTEDOLE A (CONT.)	
Monetary Contributions Received		Amounts may to whole o		Statement cove	_ • 0	CALIFORNIA 460		
				through 06/30/	2021		10 of 195	
NAME OF FILER			•			I.D. NUME	BER	
Costa Mesa F	refighters Association Local 1465 Political Acti			1377067	7			
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/26/2021	Lucas Anderson Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
04/09/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/17/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/21/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00		
06/07/2021	Lucas Anderson Costa Mesa, CA 92621	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	240.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity) PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement cove		CALIFORNIA 460		
				through 06/30/	2021	Page _	11 of 195	
NAME OF FILER			<u> </u>			I.D. NUM	IBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	57	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
06/28/2021	Lucas Anderson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/04/2021	Danial J Bangle Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
01/19/2021	Danial J Bangle Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
02/02/2021	Danial J Bangle Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
02/16/2021	Danial J Bangle Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from 01/01/2021		FORM 460	
			T.	through 06/30/	2021	Page1	.2 of 195
NAME OF FILER						I.D. NUMBER	₹
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. S	AR	PER ELECTION TO DATE (IF REQUIRED)
03/01/2021	Danial J Bangle Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
03/12/2021	Danial J Bangle Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	191
03/26/2021	Danial J Bangle Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
04/09/2021	Danial J Bangle Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00		0.00	
05/17/2021	Danial J Bangle Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Re	eceived	to whole o		from01/01/		CALIF FC	ORNIA 460
				through 06/30/	2021	Page	13 of195
NAME OF FILER						I.D. NUM	BER
Costa Mesa Firefighters Association	on Local 1465 Political Acti	on Committee				137706	57
DATE FULL NAME, STREET ADDRI	ESS AND ZIP CODE OF CONTRIBUTOR E, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
O5/21/2021 Danial J Bangle Costa Mesa, CA 92627		XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
Danial J Bangle		⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
06/28/2021 Danial J Bangle  Costa Mesa, CA 92627	7	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
01/04/2021 Michael P Barnes Costa Mesa, CA 92627		⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	
01/19/2021 Michael P Barnes Costa Mesa, CA 92627		☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page_	14 of195
NAME OF FILER				-		I.D. NUI	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Michael P Barnes Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/16/2021	Michael P Barnes Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/01/2021	Michael P Barnes Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/12/2021	Michael P Barnes Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/26/2021	Michael P Barnes Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
			SUBTOTALS	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)
be rounded

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from 01/01/2021		california 460	
			,	through 06/30/	2021	Page _	15 of 195
NAME OF FILER						I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			1	13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
04/09/2021	Michael P Barnes Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
05/17/2021	Michael P Barnes Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
05/21/2021	Michael P Barnes Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
06/07/2021	Michael P Barnes Costa Mesa, CA 92827	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	8.
06/28/2021	Michael P Barnes Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	16 of195
NAME OF FILER	8					I.D. NUN	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/26/2021	Costa Mesa, CA 92627	IND COM OTH PTY SCC	Engineer City of Costa Mesa	20.00	1	20.00	
04/09/2021	Cinnamon Basco Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Engineer City of Costa Mesa	20.00	1	20.00	
05/17/2021	Cinnamon Basco Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Engineer City of Costa Mesa	20.00	1	20.00	
05/21/2021	Cinnamon Basco Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Engineer City of Costa Mesa	20.00	1	20.00	
06/07/2021	Cinnamon Basco Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Engineer City of Costa Mesa	20.00	1	20.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement covers period from 01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page _	17_ of195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Cinnamon Basco Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Engineer City of Costa Mesa	20.00	ī	20.00	=
01/04/2021	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/19/2021	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/02/2021	Craig Bates Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/16/2021	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTALS	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		from 01/01/2021		FORM 460	
			22	through 06/30/	2021	Page1	8 of 195
NAME OF FILER						I.D. NUMBER	₹
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO I CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		0.00	
	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	.0.00	
	Craid Bates  Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
, ,	Craig Bates Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	24	0.00	
	Craig Bates Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement covers period  from01/01/2021  through06/30/2021		CALIFORNIA <b>460</b> FORM <b>19</b> Of 195	
NAME OF FILER		_				I.D. NUMBE	R
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee		-		1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO I CALENDAR YE. (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
05/21/2021	Craig Bates Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
06/07/2021	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
06/28/2021	Craig Bates Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
01/04/2021	Jeffrey Bibler Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
01/19/2021	Jeffrey Bibler  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC) OTH – Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from 01/01/2021		FORM 460	
				through 06/30/	2021	Page _	20 of 195
NAME OF FILER			· · · · · · · · · · · · · · · · · · ·			I.D. NUN	BER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Jeffrey Bibler Costa Mesa, CA 92627	COM OTH PTY SCC	Fire Captain City of Costa Mesa	20.00		40.00	
02/16/2021	Jeffrey Bibler Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	2	40.00	
03/01/2021	Jeffrey Bibler Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/12/2021	Jeffrey Bibler Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	-
03/26/2021	Jeffrey Bibler Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	to whole dollars.				ORNIA 460				
			:	through 06/30/	2021	Page _	21 of 195		
NAME OF FILER	140					I.D. NUN	MBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	ion Committee				13770	67		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	IS CALENDAR YE (JAN. 1 - DEC.		CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
04/09/2021	Jeffrev Bibler Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
05/17/2021	Jeffrey Bibler Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
05/21/2021	Jeffrey Bibler  Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
06/07/2021	Jeffrey Bibler Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
06/28/2021	Jeffrey Bibler Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
			SUBTOTAL	\$ 100.00					

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		Statement covers period from01/01/2021		CALIFORNIA 460	
				through06/30/	2021 Pa	ge22 of195	
NAME OF FILER			·· · · · · · · · · · · · · · · · · · ·		I.D	. NUMBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			13	77067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DAT CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)	
01/04/2021	James Blincoe Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00	
01/19/2021	James Blincoe Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00	
02/02/2021	James Blincoe Costa Mesa, CA 9262/	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	240.	00	
02/16/2021	James Blincoe Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.		
03/01/2021	James Blincoe Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from 01/01/2021		california 460	
			-	through06/30/	2021 P	Page23 of195	
NAME OF FILER					I.	.D. NUMBER	
Costa Mesa Firefighters Association	Local 1465 Political Actio	on Committee			1	1377067	
	S AND ZIP CODE OF CONTRIBUTOR LSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEA (JAN. 1 - DEC. 31	R TO DATE	
03/12/2021 James Blincoe  Costa Mesa, CA 92627		□COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
03/26/2021 James Blincoe Costa Mesa, CA 92627			Firefighter City of Costa Mesa	20.00	240	0.00	
04/09/2021 James Blincoe Costa Mesa, CA 92627			Firefighter City of Costa Mesa	20.00	240	0.00	
05/17/2021 James Blincoe  Costa Mesa, CA 92627			Firefighter City of Costa Mesa	20.00	240	0.00	
05/21/2021 James Blincoe Costa Mesa, CA 92627	=	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		Statement covers period from01/01/2021		FORM 460		
		36		through 06/30/	2021	Page_	of195	
NAME OF FILER				-		I.D. NUN	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
06/07/2021	James Blincoe Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/28/2021	James Blincoe Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/04/2021	Corey Brean Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	Corey Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/02/2021	Corev Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement cover	2021	FC	ORNIA 460  25 of 195
NAME OF FILER						I.D. NUN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	Corey Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Corey Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/12/2021	Corey Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	Corev Brean Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
04/09/2021	Corev Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole		from01/01/2021		FORM 460	
				through 06/30/	2021	Page	26 of 195
NAME OF FILER			•		24	I.D. NUMBE	R
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
05/17/2021	Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
05/21/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
06/07/2021	Corey Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
06/28/2021	Corey Brean Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
01/04/2021	John Brock Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

<b>Amounts may</b>	be rounded
to whole	dollars.

SCHEDULE A (CONT.)

		ľ	from	2021	FORM 460
			through 06/30/	2021 Pag	e 27 of 195
NAME OF FILER			· · · · · · · · · · · · · · · · · · ·	I.D.1	NUMBER
Costa Mesa Firefighters Association Local 1465 Polit	ical Action Committee			137	7067
DATE RECEIVED  FULL NAME, STREET ADDRESS AND ZIP CODE OF CO (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	NTRIBUTOR CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)
01/19/2021 John Brock Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	240.0	
02/02/2021 John Brock Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.0	0
02/16/2021		Fire Engineer City of Costa Mesa	20.00	240.0	
03/01/2021		Fire Engineer City of Costa Mesa	20.00	240.0	0
03/12/2021 John Brock Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.0	0
		SUBTOTAL	100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded

SCHEDULE A	(CONT.
------------	--------

CALIEODNIA 4

Statement covers period

,		to whole o	dollars.	from01/01/ through06/30/	2000	FORM 460		
NAME OF FILER			J.,		1.D.	NUMBER		
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			137	77067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)		
03/26/2021	John Brock Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	240.0			
04/09/2021	John Brock Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	240.0			
05/17/2021	John Brock Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	240.0			
05/21/2021	John Brock Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.0			
06/07/2021	John Brock Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.0	0		
	SUBTOTAL\$ 100.00							

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received	to whole		from01/01/			ORM 460
				through 06/30/	2021	Page_	29 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			31	13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	John Brock Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
01/04/2021	Kyle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/19/2021	Kyle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/02/2021	Kyle Brosamer Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/16/2021	Kyle Brosamer Costa Mesa, CA 92627	IND COM OTH PTY SCC	Firefighter City of Costa Mesa	20.00	2	240.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity) PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary	Contributions Received	to whole o		from01/01/		CALIFO FOR	RNIA 460
				through 06/30/	2021	Page	30 of 195
NAME OF FILER						I.D. NUMB	ER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR	PER ELECTION TO DATE (IF REQUIRED)
03/01/2021	Kyle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
03/12/2021	Kvle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
03/26/2021	Kyle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24(	0.00	
04/09/2021	Kyle Brosamer Costa Mesa, CA 92627	IND COM OTH PTY	Firefighter City of Costa Mesa	20.00	240	0.00	
05/17/2021	Kyle Brosamer Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
		·	SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole o				CALIFORNIA 461		
			51	through 06/30/	2021	Page_	31 of 195	
NAME OF FILER  I.D. NU								
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR . 31)	PER ELECTION TO DATE (IF REQUIRED)	
05/21/2021	Kyle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		40.00		
06/07/2021	Kyle Brosamer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/28/2021	Kyle Brosamer Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/04/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00		40.00	.I	
01/19/2021	Brian G. Brown Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

Statement covers period

CALIFORNIA ACO

		to whole (	ioliars.	from01/01/	2021	FORM 400		
				through 06/30/	2021 F	Page 32 of 195		
NAME OF FILER								
Costa Mesa Firefighters Association Local 1465 Political Action Committee 137706								
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE		
02/02/2021	Brian G. Brown Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00		
02/16/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00		
03/01/2021	Brian G. Brown Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00		
03/12/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00		0.00		
03/26/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00		
			SURTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o				CALIFORNIA 460	
				through 06/30/	2021	Page_	33 of 195
NAME OF FILER					2	I.D. NUI	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
04/09/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
05/17/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
05/21/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
06/07/2021	Brian G. Brown Costa Mesa, CA 92627	⊠IND ☐COM ☐OTH ☐PTY ☐SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	2.
06/28/2021	Brian G. Brown Costa Mesa, CA 92027	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	4	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC) OTH - Other (e.g., business entity)

PTY - Political Party SCC - Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		california 460	
				through 06/30/2021 Page		age 34 of 195	
NAME OF FILER				U	1	D. NUMBER	
Costa Mesa Firefighters Association Local 1465 Political Action Committee					1	377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEA (JAN. 1 - DEC. 3	R TO DATE	
03/26/2021	Morgan Cain Costa Mesa, CA 92827	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	120	.00	
04/09/2021	Morgan Cain Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00	
05/17/2021	Morgan Cain Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00	
05/21/2021	Morgan Cain Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00	
06/07/2021	Morgan Cain Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00	
SUBTOTAL\$ 100.6							

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary	etary Contributions Received  Amounts may be to whole do			Statement covers period		FC	ORNIA ORM	460
NAME OF FILER						I.D. NUN	BER	
Costa Mesa Firefighters Association Local 1465 Political Action Committee					1377067			
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		то	LECTION DATE QUIRED)
06/28/2021	Morgan Cain Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00		
01/04/2021	Rene H Carrera  Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	i	80.00		
01/19/2021	Rene H Carrera	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	80.00	(#1	
02/02/2021	Rene H Carrera Costa Mesa, CA 92627	⊠IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	1	80.00		1
02/16/2021	Rene H Carrera Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	80.00		
SUBTOTAL\$ 100.00								

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from 01/01/2021		FORM 460		
				through 06/30/2021		Page 36 of 195		
NAME OF FILER					75	I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
03/01/2021	Rene H Carrera Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	180.00			
03/12/2021	Rene H Carrera Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	180.00			
03/26/2021	Rene H Carrera  Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	1	80.00		
04/09/2021	Pene H Carrera Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	80.00		
05/17/2021	Rene H Carrera Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	1	80.00	781	
SUBTOTAL\$ 100.00								

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

#### Schedule A (Continuation Sheet)

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		FORM 460		
				through 06/30/	2021	Page <u>37</u> of <u>1</u>	.95	
NAME OF FILER						I.D. NUMBER		
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				1377067	9	
DATÉ RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE		
01/04/2021	Steven Cathev Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00		
01/19/2021	Steven Cathey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
02/02/2021	Steven Cathey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
02/16/2021	Steven Cathey Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00		0.00		
03/01/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from 01/01/2021		FORM 460		
				through 06/30/	2021	Page	38 of 195	
NAME OF FILER			1	31		I.D. NUN	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR YEAR TO (JAN. 1 - DEC. 31) (IF RE		PER ELECTION TO DATE (IF REQUIRED)	
03/12/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	40.00		
03/26/2021	Steven Cathey Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	24	40.00		
04/09/2021	Steven Cathey Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	40.00		
05/17/2021	Steven Cathey  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	40.00		
05/21/2021	Steven Cathey Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Captain City of Costa Mesa	20.00	2.	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		california 460		
				through Pa			39 of 195	
NAME OF FILER			•	I.D. NUMBER			MBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				67		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)	
06/07/2021	Steven Cathey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00			
06/28/2021	Steven Cathey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00			
01/04/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
01/19/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
02/02/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
			SUBTOTAL \$	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

to whole dollars.		dollars.	from01/01/2021		FORM 46U		
				through 06/30/	2021	Page	40 of 195
NAME OF FILER						I.D. NUMBE	R
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	2.	40.00	
03/01/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2.	40.00	
03/12/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/26/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2.	40.00	
04/09/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2:	40.00	
			SUBTOTALS	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole		from 01/01/2021		FORM 460	
			,	through 06/30/	2021	Page_	41 of 195
NAME OF FILER						I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			10	13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
05/17/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	240.00		1
05/21/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00		
06/07/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
06/28/2021	Nicholas A. Cerciello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	*
01/04/2021	Matthew Chavez Costa Mesa, CA 92627	IND COM COTH PTY SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		to whole dollars.		Statement covers period from01/01/2021		CALIFORNIA 460		
				through 06/30/	2021	Page_	42 of195	
NAME OF FILER	21	9.				I.D. NUI	MBER	
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
01/19/2021	Matthew Chavez Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/02/2021	Matthew Chavez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00			
02/16/2021	Matthew Chavez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/01/2021	Matthew Chavez  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/12/2021	Matthew Chavez Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
	25		SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND-Individual

COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

# Schedule A (Continuation Sheet)

SCHEDULE A (CONT.)

wonetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460		
				through 06/30/	2021	Page _	43 of 195	
NAME OF FILER						I.D. NUN	IBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	57	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/26/2021	Matthew Chavez Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
04/09/2021	Matthew Chavez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/17/2021	Matthew Chavez  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/21/2021	Matthew Chavez Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/07/2021	Matthew Chavez Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

wionetary Contributions Received		to whole dollars.		from01/01/	= '	FORM 460			
				through 06/30/	2021	Page _	44 of 195	-	
NAME OF FILER						I.D. NUN	IBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	57		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	'EAR	PER ELECTION TO DATE (IF REQUIRED)		
06/28/2021	Matthew Chavez  Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	2	40.00			
03/26/2021	Blake Cole Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	.20.00			
04/09/2021	Blake Cole Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00			
05/17/2021	Blake Cole Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	1	.20.00			
05/21/2021	Blake Cole Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	1	20.00			
			SUBTOTAL	\$ 100.00					

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

#### **Schedule A (Continuation Sheet)**

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement cove		CALIFORNIA 460		
				through 06/30/	2021	Page _	45 of 195	
NAME OF FILER						. I.D. NUI	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			00	13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
06/07/2021	Blake Cole Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00		
06/28/2021	Blake Cole Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	v.	
01/04/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/02/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	-	
	77.00		SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

# Schedule A (Continuation Sheet)

SCHEDULE A (CONT.)

Monetary Contributions Received		- to whole dollars.		from01/01/		FORM 460		
				through 06/30/	2021	Page _	46 of 195	
NAME OF FILER						I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
02/16/2021	Aaron M. Davis Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	2.	40.00		
03/01/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00		
03/12/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2:	40.00		
03/26/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
04/09/2021	Aaron M. Davis Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC) OTH - Other (e.g., business entity)

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole		from 01/01/		FORM 460		
				through 06/30/	2021	Page _	47 of195	
NAME OF FILER						I.D. NUM	IBER	
Costa Mesa F:	refighters Association Local 1465 Political Acti	on Committee				137706	57	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
05/17/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/21/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/07/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/28/2021	Aaron M. Davis Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	а	
01/04/2021	Darren DeFluiter Costa Mesa, CA 92627	XIND COM OTH PTY	Fire Captain City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity) PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA 460

Statement covers period

				from01/01/	/2021	FO	RM	400
				through 06/30/	/2021	Page _	48 of	195
NAME OF FILER			-			I.D. NUN	BER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	7	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	ТО	LECTION DATE QUIRED)
01/19/2021	Darren DeFluiter  Costa Mesa, CA 92627	IND COM OTH PTY	Fire Captain City of Costa Mesa	20.00	2	40.00		
02/02/2021	Darren DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	12	
02/16/2021	Darren DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
03/01/2021	Darren DeFluiter COSta Mesa, CA 92021	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
03/12/2021	Darren DeFluiter Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

#### Schedule A (Continuation Sheet)

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		california 460		
				through 06/30/	2021	Page 49	_ of195	
NAME OF FILER			P.			I.D. NUMBER		
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR	ER ELECTION TO DATE F REQUIRED)	
03/26/2021	Darren DeFluiter Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00	-	
04/09/2021	Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00		
05/17/2021	Darren DeFluiter Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00	-	
05/21/2021	Darren DeFluiter Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00	-	
06/07/2021	Darren DeFluiter Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)
PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received			to whole dollars.		2021	FORM 460		
				through 06/30/	2021	Page_	50 of 195	
NAME OF FILER			*			I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
06/28/2021	Darren DeFluiter Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	il de la companya de	
01/04/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	:e <sup>u</sup>	
02/02/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/16/2021	David DeFluiter Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts	may	be	rounded
to wh	nole d	lol	ars.

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement cove	•	CALIFORNIA 460		
				through 06/30/	2021	Page _	51 of195	
NAME OF FILER						I.D. NUI	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	:			13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/01/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	-	
03/12/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	8	
03/26/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
04/09/2021	David DeFluiter Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/17/2021	David DeFluiter Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

SCHEDULE A (CONT.)

Wionetary Contributions Received to whole dollars.		from 01/01/2021		FORM 460			
				through 06/30/	2021	Page_	52 of 195
NAME OF FILER						I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
05/21/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	1
06/07/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
06/28/2021	David DeFluiter  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	15
01/04/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	. 2	40.00	
01/19/2021	Mitchell Diamond Costa Mesa, CA 9262/	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary	Nonetary Contributions Received to whole dollars.  Statement covers period to whole dollars.			FORM 460			
				through 06/30/	2021	Page_	53 of 195
NAME OF FILER	*		7			I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	: a		U.	1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
02/16/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	10.00	
03/01/2021	Mitchell Diamond Costa Mesa, CA 92827	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	10.00	
03/12/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	10.00	
03/26/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)
OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA 160

Statement covers period

				from01/01/	2021	FOR	M 700	
				through 06/30/	<u>'2021</u>		54 of 195	
NAME OF FILER						I.D. NUMBE	ER .	
Costa Mesa F:	irefighters Association Local 1465 Political Acti	ion Committee				1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
04/09/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/17/2021	Mitchell Diamond  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00		
05/21/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00		
06/07/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00		
06/28/2021	Mitchell Diamond Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND-Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

wonetary Contributions Received		to whole	to whole dollars.		2021	FORM 460		
				through 06/30/	2021	Page_	55 of 195	
NAME OF FILER					1	I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	1		2	13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
01/04/2021	Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	0	
02/02/2021	Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	, 2	40.00		
02/16/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		40.00		
03/01/2021	Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

	33 3330 23323			2021	FORM 400		
· .			through 06/30/	2021	Page	56 of 195	
NAME OF FILER					I.D. NUMI	BER	
Costa Mesa Firefighters Association Local 1465 Political Acti	on Committee				137706	7	
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	31)	PER ELECTION TO DATE (IF REQUIRED)	
03/12/2021 Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	и	
03/26/2021 Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
04/09/2021 Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
05/17/2021 Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
05/21/2021 Scott Fenton  Costa Mesa, CA 92827	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
IF		SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

wionetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460	
			10	through 06/30/	2021	Page _	57 of 195
NAME OF FILER			<u> </u>			I.D. NUN	MBER
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Scott Fenton Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
06/28/2021	Scott Fenton Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/04/2021	Douglass Ferguson 2 Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	5
01/19/2021	Douglass Ferguson Costa Mesa, CA 92627	☑IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	2	40.00	10
02/02/2021	Douglass Ferguson  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTALS	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity) PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

•		to whole dollars.		from01/01/		FORM 460	
				through 06/30/	<sup>'2021</sup> Pa	ge 58 of 195	
NAME OF FILER					I.D	. NUMBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	<u> </u>		13	77067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DAT CALENDAR YEAR (JAN. 1 - DEC. 31)	TO DATE	
02/16/2021	Douglass Ferguson	XIND	Firefighter City of Costa Mesa	20.00	240.	00	
	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC	62 62 635 ta 1.55 ta				
03/01/2021	Douglass Ferguson	⊠IND □COM	Firefighter City of Costa Mesa	20.00	240.	00	
	Costa Mesa, CA 92627	OTH SCC					
03/12/2021	Douglass Ferguson	XIND	Firefighter City of Costa Mesa	20.00	240.	00	
	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC					
03/26/2021	Douglass Ferguson	XIND	Firefighter City of Costa Mesa	20.00	240.	00	
8	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC	erey or costa nesa			2	
04/09/2021	Douglass Ferguson	<b>⊠IND</b>	Firefighter City of Costa Mesa	20.00	240.	00	
48	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC					
			SUBTOTAL	\$ 100.00			
				·			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole		Statement covers period  from01/01/2021		CALIFORNIA 460	
				through06/30/	2021	Page_	59_ of195_
NAME OF FILER						I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Act	ion Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
05/17/2021	Douglass Ferguson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00	
05/21/2021	Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	240.00	
06/07/2021	Douglass Ferguson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00	
06/28/2021	Douglass Ferguson  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00	
01/04/2021	Zachary Finkelstein Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00	, e
×			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

		to whole delials.			2021	FORM 400		
				through 06/30/	2021 F	Page 60 of 195		
NAME OF FILER				5		I.D. NUMBER		
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			:	1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE		
01/19/2021	Zachary Finkelstein Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00		
02/02/2021	Zachary Finkelstein Costa Mesa, CA 92627	⊠IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	240	0.00		
02/16/2021	Zachary Finkelstein Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00		
03/01/2021	Zachary Finkelstein Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00		0.00		
03/12/2021	Zachary Finkelstein Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

wionetary Contributions Received		to whole dollars.		from01/01/2021		CALIFORNIA 460		
				through 06/30/	<u>′2021</u>	Page	61 of 195	
NAME OF FILER						I.D. NUMB	ER	
Costa Mesa F	rirefighters Association Local 1465 Political Acti	on Committee				1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR YEAR		PER ELECTION TO DATE (IF REQUIRED)	
03/26/2021	Zachary Finkelstein Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
04/09/2021	Zachary Finkelstein Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
05/17/2021	Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	9 Ø	
05/21/2021	Zachary Finkelstein Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
06/07/2021	Zachary Finkelstein Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

iND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from 01/01/2021		FORM 460	
			-	through 06/30/	2021	Page_	62 of 195
NAME OF FILER					12	I.D. NU	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR . 31)	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Zachary Finkelstein Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/04/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
01/19/2021	Robert C Gagne Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
02/02/2021	Robert C Gagne Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	т и
02/16/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

					2021	FO	RM 400
				through06/30/	2021	Page _	63 of 195
NAME OF FILER						I.D. NUM	IBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	TI .			137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR YE (JAN. 1 - DEC.	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31) (IF I	
03/01/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	-
03/12/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
03/26/2021	Robert C Gagne Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
04/09/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
05/17/2021	Robert C Gagne  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period		CALIFORNIA 460		
				through 06/30/	2021	Page _	64 of 195	
NAME OF FILER						I.D. NUM	MBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			Į?	13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
05/21/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
06/07/2021	Robert C Gagne  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
06/28/2021	Robert C Gagne Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
01/04/2021	Mark M. Geiger JR Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
01/19/2021	Mark M. Geiger JR  Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	w."	
			SUBTOTAL	100.00				

\*Contributor Codes

IND – Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

					2021	FORM 400		
				through06/30/	2021	Page	65 of	195
NAME OF FILER						I.D. NUM	BER	
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee				137706	7	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR YE (JAN. 1 - DEC.	CALENDAR YEAR TO		ECTION DATE QUIRED)
02/02/2021	Mark M. Geiger JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00		
02/16/2021	Mark M. Geiger JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2.	10.00		
03/01/2021	Mark M. Geiger JR Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00		
03/12/2021	Mark M. Geiger JR Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00		
03/26/2021	Mark M. Geiger JR Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	ő:	
			SUBTOTAL	\$ 100.00				
	<del></del>							

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA 460

Statement covers period

				from01/01/	2021	FO	RIVI TOO		
				through 06/30/	2021	Page _	66 of 195		
NAME OF FILER			-			I.D. NUM	IBER		
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee				137706	7		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR YE	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)  PER TO (IF R			
04/09/2021	Mark M. Geiger JR  Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00			240.00		
05/17/2021	Mark M. Geiger JR  costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	24	10.00	19		
05/21/2021	Mark M. Geiger JR  Costa Mesa, CA 92621		Fire Engineer City of Costa Mesa	20.00	24	10.00			
06/07/2021	Mark M. Geiger JR COSta Mesa, CA 92027		Fire Engineer City of Costa Mesa	20.00	24	10.00			
06/28/2021	Mark M. Geiger JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00			
			SUBTOTAL	100.00					

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

	$\sim$
SCHEDULE A (C	

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		from 01/01/		california 460		
				through 06/30/	2021	Page _	67 of 195	
NAME OF FILER	)					I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR YEAR TO		PER ELECTION TO DATE (IF REQUIRED)	
01/04/2021	John J Glasgow Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	John J Glasgow	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/02/2021	John J Glasgow  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
02/16/2021	John J Glasgow Zoot Marbot Brva., Sarte 210 Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/01/2021	John J Glasgow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIFORNIA 4 CO

Statement covers period

1)	to whole dollars.				FORM 460			
			through 06/30/	2021	Page	68 <b>of</b> 195		
NAME OF FILER					I.D. NUN	IBER		
Costa Mesa Firefighters Association Local 1465 Political Acti	on Committee				137706	57		
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)		
03/12/2021 John J Glasgow  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		240.00		
O3/26/2021 John J Glasgow  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00				
O4/09/2021 John J Glasgow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00				
O5/17/2021 John J Glasgow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		Tan-		
05/21/2021 John J Glasgow Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	24	0.00			
		SUBTOTAL	\$ 100.00					

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

# Schedule A (Continuation Sheet)

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	69 of195
NAME OF FILER						I.D. NU	MBER
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	John J Glasgow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		
06/28/2021	John J Glasgow Costa Mesa, CA 92021	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/04/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	-
01/19/2021	James Grovom Costa Mesa, CA 92627	⊠IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00	*
02/02/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

iND – Individual COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		to whole dollars.		Statement covers period  from01/01/2021		CALIFORNIA 460		
				through 06/30/	2021	Page _	70 <b>of</b> 195	
NAME OF FILER						I.D. NUN	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			:=	13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
02/16/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/01/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/12/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/26/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	10.00		
04/09/2021	James Grovom Costa Mesa, CA 92627	IND COM OTH PTY SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00		Falls 19		

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary	Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		CALIFORNIA 460	
		through06/30/2021		2021	Page71 of195			
NAME OF FILER	,	3		I.D. NUMBER				
Costa Mesa Firefighters Association Local 1465 Political Action Committee					1377067		67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
05/17/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00			
05/21/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/07/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/28/2021	James Grovom Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	=	
01/04/2021	Andrew D. Harris Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		CALIFORNIA 460			
	4			through 06/30/	2021	Page_	72 of 195		
NAME OF FILER				I.D. NUMBER					
Costa Mesa F	irefighters Association Local 1465 Political Acti			1377067					
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)		
01/19/2021	Andrew D. Harris  Costa Mesa, CA 92021	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
02/02/2021	Andrew D. Harris Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
02/16/2021	Andrew D. Harris Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
03/01/2021	Andrew D. Harris Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
03/12/2021	Andrew D. Harris Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00			
SUBTOTAL\$ 100.00									

\*Contributor Codes

IND -- Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement covers period from01/01/2021			FORM 460	
				through 06/30/	2021	Page _	73 of 195	
NAME OF FILER	1014					I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	a s			13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/26/2021	Andrew D. Harris Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	-	
04/09/2021	Andrew D. Harris Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
05/17/2021	Andrew D. Harris Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
05/21/2021	Andrew D. Harris	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
06/07/2021	Andrew D. Harris Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

				from01/01/	2021	FORM TOO
				through 06/30/	'2021 Pag	e 74 of 195
NAME OF FILER					I.D.	NUMBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			137	7067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Andrew D. Harris	E III	Fire Captain City of Costa Mesa	20.00	240.0	0
	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC	-			
01/04/2021	David Herrara		Firefighter City of Costa Mesa	20.00	240.0	0
2	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC				
01/19/2021	David Herrara Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	240.0	0
02/02/2021	David Herrara Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.0	0
02/16/2021	David Herrara	XIND	Firefighter City of Costa Mesa	20.00	240.0	0
O.	Costa Mesa, CA 92627	□COM □OTH □PTY □SCC	-	-		
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		to whole o		Statement covers period  from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	75 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/01/2021	David Herrara Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/12/2021	David Herrara Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	David Herrara Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	9
04/09/2021	David Herrara Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/17/2021	David Herrara Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

				from01/01/	2021	FORM 400	
				through 06/30/	2021 P	Page 76 of 195	
NAME OF FILER  I.D. NUMB							
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			1	.377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEA (JAN. 1 - DEC. 3	R TO DATE	
05/21/2021	David Herrara Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	. 00	
06/07/2021	David Herrara Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
06/28/2021	David Herrara Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
01/04/2021	John Heunemann Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00		.00	
01/19/2021	John Heunemann Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00	
		-	SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIFORNIA 400

Statement covers period

,		to whole o	dollars.	from01/01/		FORM 460
				through 06/30/	2021 Pag	ge <u>77</u> of <u>195</u>
NAME OF FILER					1.D.	NUMBER
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee			13	77067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	John Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.0	00
02/16/2021	John Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.(	00
03/01/2021	John Heunemann Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	240.0	00
03/12/2021	Tohn Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.0	0
03/26/2021	John Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.0	00
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded Statement covers period to whole dollars.

from

CALIFORNIA	460
FORM	400

SCHEDULE A (CONT.)

through 06/30/2021

01/01/2021

Page \_\_\_\_\_\_\_78 \_\_\_ of \_\_\_\_\_195

I.D. NUMBER

Costa Mesa F	1377	067				
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)
04/09/2021	John Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00	:=
05/17/2021	John Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00	
05/21/2021	John Heunemann Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00	
06/07/2021	John Heunemann Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00	

Fire Captain

City of Costa Mesa

XIND

СОМ

□OTH □PTY □SCC

SUBTOTAL\$	1	100.00	

20.00

\*Contributor Codes

IND - Individual

NAME OF FILER

COM – Recipient Committee (other than PTY or SCC)

06/28/2021 John Heunemann

Costa Mesa, CA 92627

OTH - Other (e.g., business entity)

PTY - Political Party

SCC - Small Contributor Committee

240.00

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole o				CALIFORNIA 460		
				through 06/30/	2021 P	age 79 of 195		
NAME OF FILER					1.1	D. NUMBER		
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee			1	377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEAR (JAN. 1 - DEC. 31	R TO DATE		
01/04/2021	Spencer Hibbard Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	240			
01/19/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00		
02/02/2021	Spencer Hibbard Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	240	.00		
02/16/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00		
03/01/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary	etary Contributions Received  Amounts may be rounded to whole dollars.			Statement cove	-		ORNIA RM	460
			1.2	through06/30/	2021	Page	80 <b>o</b> f	195
NAME OF FILER						I.D. NUM	BER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	57	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	то	LECTION DATE QUIRED)
03/12/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	. 2	240.00		
03/26/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
04/09/2021	Spencer Hibbard Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	a	240.00		
05/17/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00		
05/21/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole		from01/01/2021		FORM 460	
				through 06/30/	2021	Page	81 of 195
NAME OF FILER							
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee			<u> </u>	137706	7
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Spencer Hibbard Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		0.00	
06/28/2021	Spencer Hibbard Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
01/04/2021	Justin A. Horner  Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Fire Captain City of Costa Mesa	20.00	241	0.00	19
01/19/2021	Justin A. Horner  Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	241	0.00	
02/02/2021	Justin A. Horner Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24(	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole		from01/01/2021		FORM 460	
				through 06/30/	2021 F	age 82 of 195	
NAME OF FILER					1	.D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			:	377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	R TO DATE  (IF REQUIRED)	
02/16/2021	Justin A. Horner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00	
03/01/2021	Justin A. Horner Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00	
03/12/2021	Justin A Horner Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	00	
03/26/2021	Justin A. Horner Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00	
04/09/2021	Justin A. Horner	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00	
			SUBTOTALS	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		ers period	CALIFORNIA 460		
		2	through 06/30/	2021	Page 83 of 195		
NAME OF FILER		,			I.D. NUMBER		
Costa Mesa Firefighters Association Local 1465 Politica	al Action Committee				1377067		
DATE RECEIVED  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTR	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE		
05/17/2021 Justin A. Horner  Costa Mesa, CA 92627	□COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00		0.00		
05/21/2021 Justin A. Horner Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00		
06/07/2021 Justin A. Horner  Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00		
06/28/2021 Justin A. Horner  Costa Mesa, CA 92627	□ COM □ OTH □ PTY □ SCC	Fire Captain City of Costa Mesa	20.00	24	0.00		
01/04/2021 Kevin Humphreys Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	24	0.00		
		SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		to whole dollars.		Statement covers period  from01/01/2021		california 460	
				through 06/30/	2021	Page _	84 of 195
NAME OF FILER						I.D. NÜN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
01/19/2021	Kevin Humphrevs Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	240.00		
02/02/2021	Kevin Humphreys  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	· .
02/16/2021	Kevin Humphrevs Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Kevin Humphreys Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/12/2021	Kevin Humphreys Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
		-	SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		california 460	
				through 06/30/	2021	Page _	85 of 195
NAME OF FILER						I.D. NUN	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
03/26/2021	Kevin Humphreys Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		_
04/09/2021	Kevin Humphreys Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	. 2	40.00	
05/17/2021	Kevin Humphreys Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/21/2021	Kevin Humphreys Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
06/07/2021	Kevin Humphreys Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC) OTH – Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.) Amounts may be rounded Statement covers period CALIFORNIA A CO

to whole o		dollars.	from01/01/	2021	FORM 460		
				through 06/30/	2021	Page	86 of 195
NAME OF FILER						I.D. NUM	BER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	7
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Kevin Humphreys  Costa Mesa, CA 92627	⊠IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
01/04/2021	Michael D Hurd Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
01/19/2021	Michael D Hurd Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	2
02/02/2021	Michael D Hurd Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	9
02/16/2021	Michael D Hurd Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

DATE RECEIVED    FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR RECEIVED   FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (FOOMMITTEE, ALSO ENTER ID. NUMBER)   CONTRIBUTOR CODE * COLUPATION AND EMPLOYER (FSELF-EMPLOYED, ENTER NAME OF BUSINESS)   COLUPATION AND EMPLOYER (FSELF-EMPLOYED, ENTER NAME OF BUSINESS)   COLUPATION AND EMPLOYER (GSELF-EMPLOYED, ENTER NAME OF BUSINESS)   COLUPATION AND EMPLOYER RECEIVED THIS PERIOD (IF REQUIDED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN. 1 - DEC. 31) (IF RECEIVED AND EMPLOYER (JAN.	100
DATE RECEIVED  DATE RECEIVED  O3/01/2021  Michael D Hurd  Costa Mesa, CA 92627  O3/26/2021  Michael D Hurd  Costa Mesa, CA 92627	195
DATE RECEIVED  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE *  O3/01/2021  Michael D Hurd  Costa Mesa, CA 92627	
DATE RECEIVED  POLL NAME, STREET ALDRESS AND ZIP CODE OF CONTRIBUTOR CODE *  CODE *  COLUMNITTEE, ALSO ENTER ID. NUMBER)  OCCUPATION AND EMPLOYER (FSELF-EMPLOYED, ENTER NAME OF BUSINESS)  O3/01/2021  Michael D Hurd  Costa Mesa, CA 92627	
Costa Mesa, CA 92627	DATE
Costa Mesa, CA 92627  City of Costa Mesa  Costa Mesa, CA 92627  City of Costa Mesa  20.00  Costa Mesa  Costa Mesa	
Costa Mesa, CA 92627  Costa Mesa, CA 92627  City of Costa Mesa  CITY OF Costa Mesa	1
04/09/2021 Michael D Hurd  Costa Mesa, CA 92627  Costa Mesa, CA 92627    COM	
Michael D Hurd  Costa Mesa, CA 92627    COM	
SUBTOTAL\$ 100.00	

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		to whole dollars.		Statement covers period from01/01/2021		FORM 460		
				through 06/30/	2021	Page _	88 of 195	
NAME OF FILER		·	,			I.D. NUN	MBER	
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee		<u> </u>		13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
05/21/2021	Michael D Hurd Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00		40.00		
06/07/2021	Michael D Hurd Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
06/28/2021	Michael D Hurd Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
01/04/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/19/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

				from01/01/	2021	FORM		TOU
				through 06/30/	2021	Page	89 of_	195
NAME OF FILER			<u> </u>			I.D. NUME	BER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				1377067	,	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELEC TO DA (IF REQU	TE
02/02/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00			
02/16/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		,,,	
03/01/2021	Jeremy M. Jimenez  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
03/12/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		40.00		
03/26/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00		
		.1	SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party SCC - Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		from 01/01/		FORM 460		
				through 06/30/	2021	Page _	90 of 195	
NAME OF FILER						I.D. NUI	MBER	
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
04/09/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	. 20.00	2	40.00		
05/17/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/21/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/07/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
06/28/2021	Jeremy M. Jimenez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A	(CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from 01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page_	91 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee		-		13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Travis Johnson Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	si:
01/19/2021	Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	**
02/02/2021	Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/16/2021	Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/01/2021	Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
<del>v. i.</del>			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC) OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA 460

Statement covers period

			from01/01/	2021	FO	RM TOO
			through 06/30/	2021	Page _	92 <b>of</b> 195
NAME OF FILER					I.D. NUM	IBER
Costa Mesa Firefighters Association Local 1465 Political Act	lon Committee				137706	57
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LO. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
03/12/2021 Travis Johnson Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/26/2021 Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00		3
04/09/2021 Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
05/17/2021 Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	. 2	40.00	
05/21/2021 Travis Johnson  Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
	****	SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		CALIFORNIA 460		
				through 06/30/	2021	Page_	93 of 195	
NAME OF FILER						I.D. NUI	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
06/07/2021	Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
06/28/2021	Travis Johnson Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
01/04/2021	David M. Kearlev Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
01/19/2021	David M. Kearlev Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
02/02/2021	David M. Kearley Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		
		#	SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC) OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars

SCHEDULE A (CONT.)

Statement covers period

Monetary	Contributions Received	Amounts may to whole o		from 01/01/		CALIF FC	ORM 460
				through 06/30/	2021	Page _	94 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	David M. Kearley Costa Mesa, CA 92627	□ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
03/01/2021	David M. Kearley  Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	24	10.00	
03/12/2021	David M. Kearley Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	÷
	David M. Kearley  Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	24	10.00	
04/09/2021	David M. Kearley Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	a p
	2		SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received	to whole		from01/01/	C.F	FORM 460
				through 06/30/	2021 Pa	ge 95 of 195
NAME OF FILER			V4		I.D	. NUMBER
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee	ls ls		13	77067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DAT CALENDAR YEAR (JAN. 1 - DEC. 31)	TO DATE
05/17/2021	David M. Kearlev Costa Mesa, CA 92627	XIND COM OTH PTY	Fire Engineer City of Costa Mesa	20.00	240.	00
05/21/2021	David M. Kearley  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.	
06/07/2021	David M. Kearlev Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.	00
06/28/2021	David M. Kearlev Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.	00
01/04/2021	Rvan Kennedv Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	240.	00
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460	
				through 06/30/	2021	Page	96 of 195
NAME OF FILER			1			I.D. NUM	IBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
01/19/2021	Ryan Kennedy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
02/02/2021	Rvan Kennedv Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
02/16/2021	Ryan Kennedy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Ryan Kennedy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/12/2021	Rvan Kennedv Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTALS	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement cover	2021	CALIFOR FORM Page 9	
NAME OF FILER			-			I.D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee		>		1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR	PER ELECTION TO DATE (IF REQUIRED)
03/26/2021	Ryan Kennedy Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
04/09/2021	Ryan Kennedy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/17/2021	Ryan Kennedy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/21/2021	Ryan Kennedy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
06/07/2021	Ryan Kennedy Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement covers period  from01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page _	98 of 195
NAME OF FILER					-	I.D. NUN	IBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	li li			137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Ryan Kennedy Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	2	40.00	
01/04/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/19/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/02/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/16/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

SCHEDULE A (CONT.)

ded Statement covers period CALIFORNIA A CO

Monetary	Contributions Received	Amounts may to whole o		Statement covers period  from01/01/2021		FORM 460	
				through 06/30/	2021	Page_	99 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/01/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/12/2021	Tordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	2
03/26/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	I
04/09/2021	Jordan Kiesz Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/17/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
		· · · · · · · · · · · · · · · · · · ·	SUBTOTALS	100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement cove			ORNIA 460
				through 06/30/	2021	Page_	100 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
05/21/2021	Jordan Kiesz Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
06/07/2021	Jordan Kiesz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
06/28/2021	Jordan Kiesz Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/04/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	***************************************
01/19/2021	Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	_
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement cover	2021	CALIFORNIA <b>460</b> Page 101 of 195		
NAME OF FILER	A Company of the Comp					I.D. NUM	IBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	57	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO E CALENDAR YEA (JAN. 1 - DEC. S	AR	PER ELECTION TO DATE (IF REQUIRED)	
02/02/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00	å	
02/16/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00		
03/01/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00		
03/12/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00		
03/26/2021	Paul Kim Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00		
-			SUBTOTALS	\$ 100.00				

\*Contributor Codes

IND - Individual COM – Recipient Committee (other than PTY or SCC) OTH – Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from 01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page_	
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	:			13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
04/09/2021	Paul Kim Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
05/17/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
05/21/2021	Paul Kim Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
06/07/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00		40.00	
06/28/2021	Paul Kim Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement covers period  from01/01/2021			ORNIA 460
				through 06/30/	2021	Page _	103 of 195
NAME OF FILER	3		<u>-</u>	***		I.D. NUN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/19/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
02/02/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/16/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

from 01/01/2021				FC	ORMIA 460		
				through	2021	Page_	
NAME OF FILER						I.D. NUI	MREK
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			<u>,</u>	13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/12/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	ū.
04/09/2021	Giovanni. La Placa Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/17/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/21/2021	Giovanni. La Placa Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00	T
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIEODNIA 400

Statement covers period

••••••••••••••••••••••••••••••••••••••		to whole (	dollars.	from01/01/		FORM 460
				through 06/30/	2021 P	age 105 of 195
NAME OF FILER	1-11				1.	D. NUMBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			1	.377067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEA (JAN. 1 - DEC. 3	R TO DATE
06/07/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00
06/28/2021	Giovanni. La Placa Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00
01/04/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00
01/19/2021	Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00		.00
02/02/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00
			SUBTOTAL	100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		CALIFORNIA 460		
				through 06/30/	2021	Page _	106 of 195	
NAME OF FILER						I.D. NUMBER		
Costa Mesa Firefighters Association Local 1465 Political Action Committee					1		1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)	
02/16/2021	Garv St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00			
03/01/2021	Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	2	40.00		
03/12/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
03/26/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
04/09/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
SUBTOTAL\$ 100.00								

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period		CALIFORNIA 460	
				through 06/30/	2021 F	Page107_ of195	
NAME OF FILER						I.D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	-		1	1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D. CALENDAR YEA (JAN. 1 - DEC. 3	R TO DATE	
05/17/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	0.00	
05/21/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	0.00	
06/07/2021	Gary St Claver Lilly Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	0.00	
06/28/2021	Gary St Claver Lilly Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	240	0.00	
01/04/2021	Eliasar Maldonado Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	0.00	
SUBTOTAL\$ 100.00							

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460	
				through 06/30/	2021	Page_	108 of 195
NAME OF FILER						I.D. NUMBER	
Costa Mesa Firefighters Association Local 1465 Political Action Committee					1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
01/19/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2.	40.00	2
02/02/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
02/16/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	·
	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/12/2021	Eliasar Maldonado Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
SUBTOTAL\$ 100.00							

\*Contributor Codes

IND - individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

•		dollars.	from01/01/2021		FORM 460	
				through 06/30/	2021	Page 109 of 195
NAME OF FILER						I.D. NUMBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE
03/26/2021	Eliasar Maldonado Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	0.00
04/09/2021	Eliasar Maldonado		Fire Captain City of Costa Mesa	20.00	24	0.00
05/17/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00
05/21/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00
06/07/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period           from		FORM 460	
				through 06/30/	2021 P	age 110 of 195	
NAME OF FILER					1.	D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	:		1	377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEAR (JAN. 1 - DEC. 31	R TO DATE	
06/28/2021	Eliasar Maldonado Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240	.00	
01/04/2021	Anthony Mancillas Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00	
01/19/2021	Anthony Mancillas  Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00	
02/02/2021	Anthony Mancillas Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00	
02/16/2021	Anthony Mancillas Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

		to whole dollars.		from01/01/	2021 F	FORM 460  Page 111 of 195	
NAME OF FILER				ougn	rage	UMBER	
	irefighters Association Local 1465 Political Acti	on Committee			1377	067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)	
03/01/2021	Anthony Mancillas Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00		
03/12/2021	Anthony Mancillas Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00		
03/26/2021	Anthony Mancillas Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	240.00		
04/09/2021	Anthony Mancillas Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00		
05/17/2021	Anthony Mancillas Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	240.00		
			SUBTOTALS	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

Schedule A (CONT.)

Statement covers period CALIFORNIA 160

		from01/01/	2021	FORM 400			
				through 06/30/	2021	Page _	112 of 195
NAME OF FILER						I.D. NUN	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			ļ	137706	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
05/21/2021	Anthony Mancillas Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
06/07/2021	Anthony Mancillas Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	
06/28/2021	Anthony Mancillas Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00	2
01/04/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
01/19/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00		N. Tabel	

\*Contributor Codes

IND -- Individual COM -- Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		california 460	
				through 06/30/	2021	Page	113 of 195
NAME OF FILER						I.D. NUN	IBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Mark Martinez Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
02/16/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/12/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	Mark Martinez Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
		=	SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Monetary Contributions Received		dollars.	from01/01/2021		FORM 460	
				through 06/30/	2021	Page114_ of1	L95
NAME OF FILER						I.D. NUMBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO E CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE	
04/09/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/17/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/21/2021	Mark Martinez Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
06/07/2021	Mark Martinez Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
06/28/2021	Mark Martinez Costa Mesa, CA 9262/	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		from01/01/	ers period	CALIFOR FORM	NIA 460
				through 06/30/	2021	Page1	15 of 195
NAME OF FILER		· <del>-</del> ·				I.D. NUMBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Kenneth R. McCart JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
01/19/2021	Kenneth R. McCart JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
02/02/2021	Kenneth R. McCart JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
02/16/2021	Kenneth R McCart JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	1.
03/01/2021	Kenneth R. McCart JR Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received			Amounts may be rounded to whole dollars.		ers period	FORM 460	
			K.	through 06/30/	2021	Page	116 of 195
NAME OF FILER						I.D. NUM	IBER
Costa Mesa F	irefighters Association Local 1465 Political Act	ion Committee				137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTO (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
03/12/2021	Kenneth R. McCart JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
03/26/2021	Kenneth R. McCart JR  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
04/09/2021	Kenneth R. McCart JR Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	×
05/17/2021	Kenneth R. McCart JR Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	*:
05/21/2021	Kenneth R. McCart JR Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

NAME OF FILER  Costa Mesa Firefighters Association Local 1465 Political Action Committee  I.D. NUMBER  1377067  DATE RECEIVED  DATE RECEIVED  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)  CONTRIBUTOR CODE *  CODE *  CODE *  CONTRIBUTOR COUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)  COMMITTEE, ALSO ENTER LD. NUMBER)  Firefighter  Costa Mesa, CA 92627  Costa Mesa, CA 92627  TO DATE COMMITTEE, ALSO ENTER LD. NUMBER)  Firefighter  City of Costa Mesa	
Costa Mesa Firefighters Association Local 1465 Political Action Committee    DATE RECEIVED   FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IFCOMMITTEE, ALSO ENTER LD. NUMBER)   CONTRIBUTOR CODE * (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)   Firefighter Costa Mesa, CA 92627   COSTA Mesa, CA 92627   COSTA Mesa, CA 92627   COSTA Mesa	95
DATE RECEIVED  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE * CONTRIBUTOR CODE * CONTRIBUTOR CODE * CONTRIBUTOR CODE * COLUPATION AND EMPLOYER OF BUSINESS)  O6/07/2021  Kenneth R. McCart JR  Costa Mesa, CA 92627  FIRA INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)  Firefighter City of Costa Mesa  Contributor OCCUPATION AND EMPLOYER OCCU	
DATE RECEIVED    FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)   CONTRIBUTOR CODE *	
Costa Mesa, CA 92627  Costa Mesa, CA 92627  City of Costa Mesa	
06/28/2021 Kenneth R. McCart JR  SIND Costa Mesa, CA 92627  SCC  Sirefighter City of Costa Mesa  20.00  240.00  City of Costa Mesa  20.00  City of Costa Mesa	6
Corey McClanahan  Costa Mesa, CA 92627  Costa Mesa	-
Corey McClanahan  Costa Mesa, CA 92627	
Costa Mesa, CA 92627  Costa Mesa  Costa Mesa  Sind  Coty of Costa Mesa  City of Costa Mesa  Sind  Costa Mesa  Costa Mesa  Costa Mesa  Sind  Costa Mesa  Costa Mesa  Costa Mesa  Costa Mesa  Sind  Costa Mesa  Costa Mesa	
SUBTOTAL\$ 100.00	

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Contributions Received		to whole dollars.		2021	CALIFORNIA 460		
				through 06/30/	<sup>'2021</sup> P	age <u>118</u> o	f 195	
NAME OF FILER					I.	D. NUMBER		
Costa Mesa F	Pirefighters Association Local 1465 Political Act	ion Committee			1	377067	9	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEAI (JAN. 1 - DEC. 31	EAR TO DATE		
02/16/2021	Corev McClanahan Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	160.00			
03/01/2021	Corey McClanahan Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	160	.00		
03/12/2021	Corev McClanahan Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	160	.00		
03/26/2021	Corev McClanahan Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	160	.00		
04/09/2021	Corey McClanahan Costa Mesa, CA 92627	XIND COM OTH PTY	Firefighter City of Costa Mesa	20.00	160	.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period  from01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page _	119 of 195
NAME OF FILER					-	I.D. NUN	IBER -
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	AR YEAR TO DATE	
01/04/2021	Frederic H McDowell  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
01/19/2021	Frederic H McDowell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
02/02/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	8
02/16/2021	Frederic H McDowell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	II e
03/01/2021	Frederic H McDowell Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	*)
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from 01/01/2021		FORM 460	
				through 06/30/	2021	Page_	120 of 195
NAME OF FILER			•			I.D. NUI	MBER
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/12/2021	Frederic H McDowell  costa McSa, ch 3202;	XIND COM OTH PTY	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/26/2021	Frederic H McDowell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	4
04/09/2021	Frederic H McDowell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
05/17/2021	Frederic H McDowell  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
05/21/2021	Frederic H McDowell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Amounts may be rounded

Statement covers period

wionetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	121 of 195
NAME OF FILER						I.D. NUN	IBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Frederic H McDowell  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
06/28/2021	Frederic H McDowell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
01/04/2021	Bryan McMahon  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
01/19/2021	Bryan McMahon Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	5
02/02/2021	Bryan McMahon Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND – Individual COM – Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period           from01/01/2021		california 460	
				through 06/30/	2021	Page	122 of 195
NAME OF FILER						I.D. NUMBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067	**
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR	PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	Bryan McMahon Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
03/01/2021	Bryan McMahon Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24(	0.00	
03/12/2021	Bryan McMahon  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24(	0.00	
03/26/2021	Bryan McMahon Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24(	0.00	
04/09/2021	Bryan McMahon Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	241	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole		Statement covers period  from01/01/2021		FORM 460	
			43 97	through06/30/	2021	Page_	123 of 195
NAME OF FILER	×					I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Act			13770	67		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
05/17/2021	Bryan McMahon Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		240.00	
05/21/2021	Bryan McMahon Costa Mesa, CA 9252/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2		
06/07/2021	Bryan McMahon  Costa Mesa, CA 9282/	IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
06/28/2021	Bryan McMahon  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	- OV
01/04/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period           from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	124 of 195
NAME OF FILER				0.7		I.D. NUN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			,	13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
01/19/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/02/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/16/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	11 2
03/12/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity) PTY - Political Party SCC - Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

			a)	from 01/01/2021		FORM TOO
	±1			through 06/30/	2021 Pag	ge <u>125</u> of <u>195</u>
NAME OF FILER	ρ.				I.D.	NUMBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			13	77067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DAT CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)
03/26/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.0	00
04/09/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.0	00
05/17/2021	Brandon Medeck Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	240.0	00
05/21/2021	Brandon Medeck Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	240.0	00
06/07/2021	Brandon Medeck Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	240.(	00
			SUBTOTAL	100.00		

\*Contributor Codes

IND -- Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	netary Contributions Received  Amounts may be rounded to whole dollars.  from		Statement cove	CALIFORNIA			
			et.	through 06/30/	2021	Page_	126 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Brandon Medeck Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
01/04/2021	Petronilo Melgoza Jr.  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
01/19/2021	Petronilo Melgoza Jr. Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/02/2021	Petronilo Melgoza Jr. Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/16/2021	Petronilo Melgoza Jr.  Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	2
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period		california 460	
			a a	through 06/30/	2021	Page _	127 of 195
NAME OF FILER						I.D. NUM	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/01/2021	Petronilo Melgoza Jr.  Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/12/2021	Petronilo Melgoza Jr. Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/26/2021	Petronilo Melgoza Jr.  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
04/09/2021	Petronilo Melgoza Jr. Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
05/17/2021	Petronilo Melgoza Jr. Z Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period           from01/01/2021		CALIFORNIA 460	
				through 06/30/	2021 F	Page 128 of	195
NAME OF FILER		-			1	.D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			:	1377067	<u> </u>
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	R TO	LECTION DATE QUIRED)
05/21/2021	Petronilo Melgoza Jr.  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00	
06/07/2021	Petronilo Melgoza Jr. Z Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00	
06/28/2021	Petronilo Melgoza Jr.  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	0.00	
01/04/2021	Eric S. Montgomery  Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
01/19/2021	Eric S. Montgomery Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period           from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	129 of 195
NAME OF FILER						I.D. NUN	IBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			J.	137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Eric S. Montgomerv Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
02/16/2021	Eric S. Montgomery Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
03/01/2021	Eric S. Montgomerv Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2-	40.00	n g
03/12/2021	Eric S. Montgomery Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		40.00	
03/26/2021	Eric S. Montgomery Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	
æ			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		2021 C	CALIFORNIA 460	
			through 06/30/	2021 P	age 130 of 195	
NAME OF FILER				1.	D. NUMBER	
Costa Mesa Firefighters Association Local 1465 Political	Action Committee	-		1	.377067	
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBU	TOR CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEAL (JAN. 1 - DEC. 31	R TO DATE	
04/09/2021 Eric S. Montgomerv  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
05/17/2021 Eric S. Montgomery Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
05/21/2021 Eric S. Montgomery  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
06/07/2021 Eric S. Montgomery  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
06/28/2021 Eric S. Montgomery  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240	.00	
		SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		to whole dollars.		from01/01/2021		FORM 460	
				through 06/30/	2021 Pag	e 131 of 195	
NAME OF FILER	90		1,		I.D.	NUMBER	
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee			137	77067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)	
03/26/2021	Ruben Munoz Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	120.0	0	
04/09/2021	Ruben Munoz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120.0	0	
05/17/2021	Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	120.0	20	
05/21/2021	Ruben Munoz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120.0	0	
06/07/2021	Ruben Munoz Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120.0	0	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND – Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.) Amounts may be rounded Statement covers period

Wionetary	Contributions Received	to whole	dollars.	from01/01/	•	CALIF FC	orm 460
				through 06/30/	2021	Page _	132 of 195
NAME OF FILER						I.D. NUN	MBER
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR . 31)	PER ELECTION TO DATE (IF REQUIRED)
06/28/2021	Ruben Munoz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
01/04/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	2
01/19/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	d
02/02/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	r.
02/16/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		Statement covers period CALIFORNIA FORM			74   6	
				through 06/30/	2021	Page_	133 of 195	
NAME OF FILER  I.D. I								
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/01/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
03/12/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	v	
03/26/2021	Kvle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
04/09/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
05/17/2021	Kyle Myszka Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
16			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

through         06/30/2021         Page           NAME OF FILER         I.D. NUM	134 of 195 MBER
NAME OF FILER	MBER
Costa Mesa Firefighters Association Local 1465 Political Action Committee 13770	67
DATE RECEIVED    FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)   CONTRIBUTOR CODE *   IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)   PERIOD   CMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)
Kyle Myszka	
Value Myszka	
06/28/2021 Kyle Myszka  Costa Mesa, CA 92627    COM	22
O1/04/2021 Joseph A Noceti  Costa Mesa, CA 92827  SIND City of Costa Mesa  20.00  240.00  City of Costa Mesa	
O1/19/2021 Joseph A Noceti Costa Mesa, CA 92627  IND City of Costa Mesa City of Costa Mesa  20.00  240.00  COM OTH OTH SCC	
SUBTOTAL\$ 100.00	

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA /

Statement covers period

				from01/01/	2021 F	ORM TOO								
			27	through 06/30/	2021 Page	135 of 195								
NAME OF FILER			<u> </u>	-	I.D. NL	IMBER								
Costa Mesa F	refighters Association Local 1465 Political Acti	on Committee			1377	067								
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)								
02/02/2021	Joseph A Noceti Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00									
02/16/2021	Joseph A Noceti Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00									
03/01/2021	Joseph A Noceti Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	240.00	×								
03/12/2021	Joseph A Noceti Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00									
03/26/2021	Joseph A Noceti Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00									
			SUBTOTAL	\$ 100.00										

\*Contributor Codes

 $\mathsf{IND}-\mathsf{Individual}$ 

COM – Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

wionetary Contributions Received		to whole		from 01/01/2021 CALIFORNIA FORM		
				through 06/30/	2021 Pag	e 136 of 195
NAME OF FILER	8				I.D.	NUMBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	9		137	7067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	TO DATE (IF REQUIRED)
04/09/2021	Joseph A Noceti Costa Mesa, CA 92021	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.0	0
05/17/2021	Joseph A Noceti Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.0	0
05/21/2021	Joseph A Noceti Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	240.0	0
06/07/2021	Joseph A Noceti 2d Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.0	0
06/28/2021	Joseph A Noceti  Coseu Nesa, d. Sect.	IND □ COM □ OTH □ PTY □ SCC	Fire Captain City of Costa Mesa	20.00	240.0	0
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

		SCHEDULE A (CONT.)
v be rounded	Statement sever period	

Monetary	Contributions Received	Amounts may to whole		Statement covers period  from01/01/2021		california 460	
				through 06/30	/2021	Page_	137 of 195
NAME OF FILER		· · · · · · · · · · · · · · · · · · ·				I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	lon Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	8
01/19/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	_
02/02/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	<b>E</b> 1
02/16/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	<b>\$</b> 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

be rounded Statement covers period On 15 CONT.

Monetary	Contributions Received	to whole		from01/01/	•		DRM 460
				through 06/30/	2021	Page_	138 of 195
NAME OF FILER		1				I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/12/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
04/09/2021	Angel Ordaz  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/17/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/21/2021	Angel Ordaz Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND – Individual COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

SCHEDULE A (CONT.)

Monetary	Amounts may be rounded to whole dollars.  Statement covers period from		CALIFORNIA 460				
				through 06/30/	2021	Page	139 of 195
NAME OF FILER	C	<u>.</u>		E Company		I.D. NUM	BER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			8)	137706	7
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	10.00	
06/28/2021	Angel Ordaz Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2.	10.00	
01/04/2021	Joshua A. Ortega Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00	2
01/19/2021	Joshua A. Ortega Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
02/02/2021	Joshua A. Ortega Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	2.	40.00	0
	11		SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual COM – Recipient Committee
(other than PTY or SCC)
OTH – Other (e.g., business entity)
PTY – Political Party
SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement covers period  from01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page	140 of 195
NAME OF FILER						I.D. NUMI	BER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	7 =
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO I CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	Joshua A. Ortega Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
03/01/2021	Joshua A. Ortega Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
03/12/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	Tį.
03/26/2021	Joshua A. Ortega Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
04/09/2021	Joshua A. Ortega Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	п
			SUBTOTAL	\$ 100.00			*

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC) OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may to whole o		from01/01/		CALIFORNIA 460		
				through 06/30/	2021	Page 141	_ of	
NAME OF FILER			<u> </u>			I.D. NUMBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067	7	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	ER ELECTION TO DATE F REQUIRED)	
05/17/2021	Joshua A Ortega Costa Rosa, dr. 3205.	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
05/21/2021	Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
06/07/2021	Joshua A. Ortega Costa Mesa, CA 9202/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00		
06/28/2021	Joshua A. Ortega	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	22	
01/04/2021	Ian Palmer  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	12	20.00	11	
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)
PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

				from01/01/	2021	FORM TOU
				through06/30/		Page142_ of195
NAME OF FILER						I.D. NUMBER
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee			:	1377067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	TO DATE  (IF REQUIRED)
01/19/2021	Ian Palmer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		0.00
02/02/2021	Ian Palmer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00
02/16/2021	Tan Palmer Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	120	0.00
03/01/2021	Ian Palmer   Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00
03/12/2021	Ian Palmer Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	120	0.00
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)

PTY - Political Party

SCC - Small Contributor Committee

-----

Amounts may be rounded to whole dollars

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		to whole dollars.		Statement covers period		CALIFORNIA <b>460</b> FORM <b>1</b> 95	
Costa Mesa F	irefighters Association Local 1465 Political Acti	ion Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Todd A Palombo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		
01/19/2021	Todd A Palombo Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	240.00		
02/02/2021	Todd A Palombo  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	,1
02/16/2021	Todd A Palombo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	**
03/01/2021	Todd & Palembo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

	to whole dollars.		from01/01/2021		FORM 460					
	P			through 06/30/	2021 Pag	e 144 of 195				
NAME OF FILER			I.D.	NUMBER						
Costa Mesa F	irefighters Association Local 1465 Political Acti	13770		77067						
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	TO DATE (IF REQUIRED)				
03/12/2021	Todd A Palombo Costa Mesa, CA 92627	⊠IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	240.0					
03/26/2021	Todd A Palombo Costa Mesa, CA 92627	⊠IND COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.0	10 m				
04/09/2021	Todd A Palombo  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.0	0				
05/17/2021	Todd A Palombo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.0					
05/21/2021	Todd A Palombo Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	240.0	0				
SUBTOTAL\$ 100.00										

\*Contributor Codes

IND -- Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded Statement covers period CALIFORNIA A CO

monotar y		to whole o	dollars.	from01/01/2021		FORM 460	
			j.	through06/30/	2021	Page	145 of 195
NAME OF FILER				2		I.D. NUMB	ER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	:			1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO I CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Todd A Palombo  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
06/28/2021	Todd A Palombo	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
01/04/2021	Robert D Pignone Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	16	50.00	=
01/19/2021	Robert D Pignone  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	16	0.00	b
02/02/2021	Robert D. Bignone Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	16	50.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

wonetary	nonetary Contributions Received		dollars.	from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	146 of 195
NAME OF FILER	1					I.D. NU	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	· · · · · · · · · · · · · · · · · · ·			13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR . 31)	PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	Robert D Pignone  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	1	60.00	
03/01/2021	Robert D Pignone Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	1	60.00	
03/12/2021	Robert D Pignone  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	1	60.00	
03/26/2021 	Robert D Pignone  Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00		60.00	
04/09/2021	Robert D Pignone 2 Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	1	60.00	i.e
		35	SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA 160

Statement covers period

	2021	FORM TOO		
		through 06/30/	2021	Page 147 of 195
NAME OF FILER				I.D. NUMBER
Costa Mesa Firefighters Association Local 1465 Political Action Committee	ee			1377067
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER) CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE
Costa Mesa, CA 92627	Firefighter City of Costa Mesa	20.00	24(	0.00
O1/19/2021 Chad E. Pregizer  Costa Mesa, CA 92627  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	240	0.00
Costa Mesa, CA 92627  Chad E. Pregizer  Costa Mesa, CA 92627  □ OTH □ PTY □ SCC	Firefighter City of Costa Mesa	20.00	240	0.00
Costa Mesa, CA 92627	Firefighter City of Costa Mesa	20.00	240	0.00
O3/01/2021 Chad E. Pregizer  Costa Mesa, CA 92027  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	24(	0.00
	SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party SCC - Small Contributor Committee

...........

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may to whole o		Statement covers period from01/01/2021		FORM 460	
			*	through 06/30/	2021	Page	148 of 195
NAME OF FILER			327			I.D. NU	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	L NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CONTRIBUTOR OCCUPATION AND EMPLOYER RECEIVED THIS CALENDA		CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/12/2021	Chad E. Pregizer Costa Mesa, CA 92627	XIND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
04/09/2021	Chad E. Pregizer  Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
05/17/2021	Chad E Pregizer Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	£	40.00	
05/21/2021	Chad E. Pregizer  Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

## **Schedule A (Continuation Sheet)**

SCHEDULE A (CONT.)

Monetary	Monetary Contributions Received		Amounts may be rounded to whole dollars.		ers period 2021	FORM 460	
				through 06/30/	2021	Page _	149 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Chad E. Pregizer  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	,2	40.00	
06/28/2021	Chad E. Pregizer  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	8
01/04/2021	Douglas R Prochnow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	20.00	
01/19/2021	Douglas R Prochnow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	20.00	
02/02/2021	Douglas R Prochnow  Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	20.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

SCHEDULE A (CONT.)

Amounts may be rounded

Statement covers period

Monetary	Contributions received	to whole	dollars.	from 01/01/	2021	FC	ORNIA DRM	460
				through 06/30/	2021	Page_	150 of_	195
NAME OF FILER						I.D. NUI	MBER	
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELE TO DA (IF REQI	ATE
02/16/2021	Douglas R Prochnow  Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	i	20.00	×	
03/01/2021	Douglas R Prochnow  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	20.00		
03/12/2021	Douglas R Prochnow Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	1	20.00	÷	
01/04/2021	Scott O. Purcell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		-
01/19/2021	Scott O. Purcell Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00		VI .
			SUBTOTAL	\$ 100.00				FIFE STREET

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

				from01/01/	2021	FORM 400
			JI.	through 06/30/	<sup>'2021</sup> P	age 151 of 195
NAME OF FILER					1.	D. NUMBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			1	377067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEAR (JAN. 1 - DEC. 31	TODATE
02/02/2021	Scott O. Purcell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	
02/16/2021	Scott O. Purcell Costa Mesa, CA 92021	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00
03/01/2021	Scott O. Purcell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00
03/12/2021	Scott O. Purcell Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00
03/26/2021	Scott O. Purcell Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Engineer City of Costa Mesa	20.00	240	.00
	2		SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC) OTH – Other (e.g., business entity)

PTY – Political Party
SCC – Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

NAME OF FLER   COSTA MESS   Page   152  of 195	•		to whole (	dollars.	from01/01/	2021	FORM	<sup>**</sup> 460
1377067   1377					through 06/30/	2021		of 195
DATE   RECEIVED   FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR   COOPE **   CONTRIBUTOR COUPATION AND EMPLOYER   COLENDAR YEAR (JAN, 1 - DEC, 31)   TO DATE (JF REQUIRED)	NAME OF FILER						I.D. NUMBER	
FULL NAME, STREET ADDRESS AND DP CODE OF CONTRIBUTOR CODE	Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			5	1377067	
Costa Mesa, CA 92627		(IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTINIDOTOR	OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	RECEIVED THIS PERIOD	CALENDAR YE (JAN. 1 - DEC.	AR 31) (IF	TO DATE
Costa Mesa, CA 92627   City of Costa Mesa   City of Costa Mesa   Cos	04/09/2021		□COM □OTH □PTY	Fire Engineer City of Costa Mesa	20.00	24	10.00	
Costa Mesa, CA 92627	05/17/2021		□COM □OTH □PTY		20.00	24	10.00	
Costa Mesa, CA 92627  Costa Mesa, CA 92627  City of Costa Mesa  20.00  240.00  Costa Mesa, CA 92627  Costa Mesa, CA 92627  Costa Mesa  City of Costa Mesa	05/21/2021		□COM □OTH □PTY		20.00	24	10.00	
Costa Mesa, CA 92627  Costa Mesa, CA 92627  City of Costa Mesa  City of Costa Mesa  City of Costa Mesa	06/07/2021		□COM □OTH □PTY		20.00	24	10.00	
SUBTOTAL\$ 100.00	06/28/2021		□COM □OTH □PTY	Fire Engineer City of Costa Mesa	20.00	24	10.00	
				SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary	lonetary Contributions Received		Amounts may be rounded to whole dollars.		ers period	FORM 460	
				through 06/30/	2021	Page _	153 of 195
NAME OF FILER			i)			I.D. NUN	IBER
Costa Mesa Fi	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
03/26/2021	Brandon Raissdana Costa Mesa, CA 92021	XIND COM OTH PTY	Firefighter City of Costa Mesa	20.00	1.	20.00	P
04/09/2021	Brandon Raissdana Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1.	20.00	10 2
05/17/2021	Brandon Raissdana Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
05/21/2021	Brandon Paissdana Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
06/07/2021	Brandon Raissdana Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary	Ionetary Contributions Received		be rounded dollars.	Statement covers period from		CALIFORNIA 460	
				through 06/30/	2021		154 of 195
NAME OF FILER			- · · · - · · · · · · · · · · · · · · ·			I.D. NUN	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			i i	13770	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)			EAR . 31)	PER ELECTION TO DATE (IF REQUIRED)		
06/28/2021	Brandon Raissdana Costa Mesa, CA 92627	XIND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
01/04/2021	Kevin P. Reddy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
01/19/2021	Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
02/02/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
02/16/2021	Kevin P. Reddy  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
	2		SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

wonetary	Monetary Contributions Received		to whole dollars.		2021	FORM 460	
				through 06/30/	2021	Page_	155 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR . 31)	PER ELECTION TO DATE (IF REQUIRED)
03/01/2021	Kevin P. Reddy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	* * *
03/12/2021	Kevin P. Reddy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	-
03/26/2021	Kevin P. Reddy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
04/09/2021	Kevin P. Reddy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	*
05/17/2021	Kevin P. Reddy Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

NAME OF FILER COSTA MERA PITER THROUGH ASSOCIATION LOCAL 1465 Political Action Committee  DATE RECEIVED  BOUT PRECEIVED  CODE * COUNTRIBUTOR OCCUMENTION AND EMPLOYER PERIOD CALENDAR FORM (AM. 1-DEC. 31)  STATE CASTA MERA, UN 92627  COSTA MERA, UN 92627  COSTA MERA, CA 92627  COSTA MERA, CA 92627  COSTA MERA, UN 92627  COSTA MERA, CA 92627  COSTA MERA, UN 92627  COSTA MERA, UN 92627  COSTA MERA, UN 92627  COSTA MERA, CA 92627  COSTA MERA	Monetary	Ionetary Contributions Received		Amounts may be rounded to whole dollars.		ers period	FORM 460	
Costa Mesa Firefighters Association Local 1465 Political Action Committee  DATE RECEIVED  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE of CONTRIBUTOR CODE **  STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CODE **  FULL NAME, STREET ADDRESS AND ZIP CODE OF CODE					through 06/30/	2021	Page _	156 of 195
DATE RECEIVED  DATE RECEIVED  DATE RECEIVED  DATE RECEIVED  DESCRIPTION AND EMPLOYER RECEIVED THIS PERIOD  CODE **  CONTRIBUTOR CODE **  COUPATION AND EMPLOYER RECEIVED THIS PERIOD  COLUMNING AND EMPLOYER RECEIVED THIS PERIOD  COLUMNING AND EMPLOYER RECEIVED THIS PERIOD  COLUMNING AND EMPLOYER RECEIVED THIS PERIOD  CODE **  COUPATION AND EMPLOYER RECEIVED THIS PERIOD  CODE **  COUPATION AND EMPLOYER RECEIVED THIS PERIOD  COUPATION AND EMPLOYER RECEIVED THIS PERIOD  CODE **  COUPATION AND EMPLOYER RECEIVED THIS PERIOD  COM COT COUPATION AND EMPLOYER RECEIVED THIS RECEIVED THIS PERIOD  COM COT COUPATION AND EMPLOYER RECEIVED THIS RECEIVED THE RECE	NAME OF FILER						I.D. NUM	IBER
Date   Received   Followers and Date   Court   Court   Received   Followers	Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	57
Costa Mesa, CA 92627		FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)		OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME	RECEIVED THIS	CALENDAR YEA	AR	TO DATE
Costa Mesa, CA 92627	05/21/2021		□COM □OTH □PTY		20.00	24	0.00	
Costa Mesa, CA 92627	06/07/2021		□COM □OTH □PTY		20.00	24	0.00	
Costa Mesa, CA 92627  City of Costa Mesa  20.00  240.00  City of Costa Mesa	06/28/2021		□COM □OTH □PTY		20.00	24	0.00	
Costa Mesa, CA 92627  Costa Mesa, CA 92627  City of Costa Mesa  OTH  PTY  SCC	01/04/2021		□COM □OTH □PTY		20.00			
SUBTOTAL\$ 100.00	01/19/2021		□COM □OTH □PTY		20.00	24	0.00	7.
				SUBTOTAL	100.00			

\*Contributor Codes

IND -- Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party SCC - Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		from 01/01/		FORM 460	
				through 06/30/	2021	Page	157 of 195
NAME OF FILER	9					I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Kevin M. Ruhl II Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2·	40.00	2
02/16/2021	Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2.	40.00	
03/01/2021	Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2.	40.00	а
03/12/2021	Kevin M. Ruhl II Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/26/2021	Kevin M. Ruhl II Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	~
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

		to whole dollars.		from01/01/	2021	FORM 400
				through 06/30/	2021 Pag	ge <u>158</u> of <u>195</u>
NAME OF FILER	2				I.D.	NUMBER
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee			13	77067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DAT CALENDAR YEAR (JAN. 1 - DEC. 31)	TO DATE (IF REQUIRED)
04/09/2021	Kevin M. Ruhl II Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.(	000
05/17/2021	Kevin M. Ruhl II	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.0	00
05/21/2021	Kevin M. Ruhl II Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.0	00
06/07/2021	Kevin M. Ruhl II Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.(	00
06/28/2021	Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	240.(	00
			SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary	onetary Contributions Received  Amounts may be rounded to whole dollars.  Statement covers period  from 01/01/2021			FORM 460			
			14	through 06/30/	2021	Page _	159 of 195
NAME OF FILER						I.D. NUI	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
01/19/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/02/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/16/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/01/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
		90	SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		FORM 460		
				through 06/30/	2021	Page _	160 of 195	
NAME OF FILER						I.D. NUN	MBER	
Costa Mesa F:	irefighters Association Local 1465 Political Acti	on Committee		Ð		13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)	
03/12/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2.	10.00		
03/26/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00		
04/09/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	40.00		
05/17/2021	Steve Savage	⊠IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Engineer City of Costa Mesa	20.00	24	10.00		
05/21/2021	Steve Savage Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	40.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars

SCHEDULE A (CONT.)

CALIEORNIA 400

Statement covers period

to whole dollars.		ioliars.	from01/01/		FORM 460		
				through 06/30/		Page 161 of 195	
NAME OF FILER			2		1	I.D. NUMBER	
Costa Mesa Fire	fighters Association Local 1465 Political Acti	on Committee	-		:	1377067	
RECEIVED	JLL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	TO DATE (IF REQUIRED)	
Cc	osta Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00		0.00	
	osta Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00		0.00	
03/20/2021	osta Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00	
	osta Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00	
	aylor Scavo osta Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND – Individual

COM – Recipient Committee (other than PTY or SCC)

(other than PTY or SCC) OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may to whole o		Statement covers period from01/01/2021		california 460	
				through 06/30/	2021	Page _	162 of 195
NAME OF FILER						I.D. NU	MBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD, NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
05/21/2021	Taylor Scavo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	V	20.00	
06/07/2021	Taylor Scavo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
06/28/2021	Taylor Scavo Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
01/04/2021	Harrison Schwab Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		40.00	
01/19/2021	Harrison Schwab Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		from 01/01/		FORM 460	
				through 06/30/	2021	Page _	163_ of195
NAME OF FILER	-		11			I.D. NUM	IBER
Costa Mesa Fi	refighters Association Local 1465 Political Act	ion Committee				137706	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
02/02/2021	Harrison Schwab Costa Mesa, CA 92621	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
02/16/2021	Harrison Schwab Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/01/2021	Harrison Schwah Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	2
03/12/2021	Harrison Schwah	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021	Harrison Schwab Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

,		to whole dollars.		from01/01/		FORM 460		
	¥ ×			through 06/30/	2021 Page	2 164 of 195		
NAME OF FILER					I.D. N	UMBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			137	7067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF REQUIRED)		
04/09/2021	Harrison Schwab	⊠IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	240.00			
05/17/2021	Harrison Schwab  Costa Mesa, CA 92627	⊠IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	240.00			
05/21/2021	Harrison Schwab Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00			
06/07/2021	Harrison Schwab Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00			
06/28/2021	Harrison Schwab Costa Mesa, CA 92627	IND COM OTH PTY SCC	Firefighter City of Costa Mesa	20.00	240.00			
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIFORNIA A CO

Statement covers period

•	to whole dollars.				2021	FORM 460	
				through 06/30/	2021	Page165_ of _	195
NAME OF FILER						I.D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			, i	1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR TO DA 31) (IF REQU	ATE
01/04/2021	Jaime Serrato Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
01/19/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
02/02/2021	Jaime Serrato Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	24	40.00	
02/16/2021	Jaime Serrato Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00	n.
03/01/2021	Jaime Serrato  Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
			SUBTOTAL	100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received  Amounts may be rounded to whole dollars.			from01/01/	2021	FORM 460		
				through 06/30/	2021	Page	166 of 195
NAME OF FILER						I.D. NUMBE	R
Costa Mesa F	irefighters Association Local 1465 Political Act	on Committee				1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. S	AR 31)	PER ELECTION TO DATE (IF REQUIRED)
03/12/2021	Jaime Serrato Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
03/26/2021	Jaime Serrato Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	e#
04/09/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/17/2021	Jaime Serrato Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/21/2021	Jaime Serrato Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received	Amounts may be rounded to whole dollars.		from01/01/	·	FORM 460	
			through 06/30/	2021	Page _	167_ <b>of</b> 195
NAME OF FILER					I.D. NU	MBER
Costa Mesa Firefighters Association Local 1465 Po	litical Action Committe	ee			13770	67
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CONTRIBUTOR CODE *	R OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)
O6/07/2021 Jaime Serrato  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
O6/28/2021 Jaime Serrato  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	
03/26/2021 Taylor Shallop  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	er al
04/09/2021 Taylor Shallop Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	Å ^
05/17/2021 Taylor Shallop  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	
		SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		from01/01/		FORM 460		
				through 06/30/	2021 P	age 168 of 195		
NAME OF FILER		Φ.			I.	D. NUMBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				.377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEA (JAN. 1 - DEC. 3°	R TO DATE		
05/21/2021	Taylor Shallop Costa Mesa, CA 92627	XIND COM OTH PTY	Firefighter City of Costa Mesa	20.00	120	.00		
06/07/2021	Taylor Shallop Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00		
06/28/2021	Taylor Shallop Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00		
01/04/2021	Harrison Skov Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	.00		
01/19/2021	Harrison Skov Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIFORNIA A CO

Statement covers period

	to whole dollars.				FORM 460	
			through 06/30/	<sup>'2021</sup>	Page 169 of 195	
NAME OF FILER		W.			I.D. NUMBER	
Costa Mesa Firefighters Association Local 1465 Political Ac	tion Committee				1377067	
DATE RECEIVED FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTO	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO D CALENDAR YEA (JAN. 1 - DEC. 3	AR TO DATE 31) (IF REQUIRED)	
02/02/2021 Harrison Skov	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		0.00	
02/16/2021 Harrison Skov Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00	
03/01/2021 Harrison Skov Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00	
03/12/2021 Harrison Skov Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	120	0.00	
01/04/2021 Donald D. Soldan 20 Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24(	0.00	
		SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		FORM 460	
				through 06/30/	2021	Page _	170 of 195
NAME OF FILER						I.D. NUN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Act	ion Committee				13770	57
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CALENDAR Y	CALENDAR YEAR TO DATE (JAN. 1 - DEC. 31)  CHURCH TO DATE (IF REQU	
01/19/2021	Donald D. Soldan Costa Mesa, CA 92621	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	2	240.00	*11
02/02/2021	Donald D. Soldan Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	2	240.00	
02/16/2021	Donald D. Soldan Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/01/2021	Donald D. Soldan Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	- 2	240.00	
03/12/2021	Donald D. Soldan  Costa Mesa, CA 92627	IND COM OTH PTY SCC	Fire Engineer City of Costa Mesa	20.00	2	240.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

CALIEODNIA 4

Statement covers period

		to whole o	dollars.	from01/01/	2021	FORM 460
				through 06/30/	2021 Pa	age 171 of 195
NAME OF FILER					1.1	D. NUMBER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee			1:	377067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DA CALENDAR YEAR (JAN. 1 - DEC. 31	TO DATE (IF REQUIRED)
03/26/2021	Donald D. Soldan Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	00
04/09/2021	Donald D. Soldan Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00
05/17/2021	Donald D. Soldan Costa Mesa, CA 92627	XIND COM OTH PTY	Fire Engineer City of Costa Mesa	20.00	240	.00
05/21/2021	Donald D. Soldan Zerosta Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	, s <sup>2</sup>
06/07/2021	Donald D. Soldan Costa Mesa, CA 92027	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240	.00
Tu .			SUBTOTALS	100.00		
-						

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

				from01/01/	2021	FORM TOO		
				through06/30/	2021		72 of <u>195</u>	
NAME OF FILER	8					I.D. NUMBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR 31)	PER ELECTION TO DATE (IF REQUIRED)	
06/28/2021	Donald D. Soldan Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	24	0.00		
01/04/2021	Philip D. Storey  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	.0.00		
01/19/2021	Philip D. Storey Costa Mesa, CA 92627		Firefighter City of Costa Mesa	20.00	24	0.00	e.	
02/02/2021	Philip D. Storey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		0.00	4	
02/16/2021	Philip D. Storey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

#### **Schedule A (Continuation Sheet)**

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period           from01/01/2021		california 460		
				through 06/30	/2021	Page_	173 of 195	
NAME OF FILER						I.D. NU	MBER	
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee	<u> </u>		135	13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	'EAR	PER ELECTION TO DATE (IF REQUIRED)	
03/01/2021	Philip D. Storev Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	3	240.00	all	
03/12/2021	Philip D. Storev 2 Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	240.00	0	
03/26/2021	Costa Mesa, CA 92627	☑IND ☐COM ☐OTH ☐PTY ☐SCC	Firefighter City of Costa Mesa	20.00	-	240.00		
04/09/2021	Philip D. Storev  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		240.00		
05/17/2021	Philip D. Storey Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00		240.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity) PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA

Statement covers period

			#	from01/01/	2021	FO	RM TOO	
				through 06/30/	2021	Page	174 of 195	
NAME OF FILER						I.D. NUM	BER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	·			1377067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER LD. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)	
05/21/2021	Philip D. Storey Costa Mesa, CR 92027		Firefighter City of Costa Mesa	20.00	2	40.00		
06/07/2021	Philip D. Storey  Costa Mesa, CA 92627	XIND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00	7.	
06/28/2021	Philip D. Storey Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	2	40.00		
01/04/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
01/19/2021	Charles Torres  Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Fire Captain City of Costa Mesa	20.00	2	40.00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

SCC - Small Contributor Committee

union fono on nou

#### Schedule A (Continuation Sheet)

SCHEDULE A (CONT.)

Monetary	Contributions Received	Amounts may to whole o		Statement covers period  from 01/01/2021  through 06/30/2021		CALIFORNIA 460	
		<del></del>		through	2021		175 of 195
NAME OF FILER			*			I.D. NUM	BEK
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				137706	7
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	IDAR YEAR TO DATE	
02/02/2021	Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
02/16/2021	Charles Torres  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	0
03/01/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/12/2021	Charles Torres Costa Mesa, CA 92627	IND □ COM □ OTH □ PTY □ SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/26/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	V
*			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee
(other than PTY or SCC)
OTH – Other (e.g., business entity)
PTY – Political Party

#### **Schedule A (Continuation Sheet)**

SCHEDULE A (CONT.)

Monetary Contributions Received		Amounts may be rounded to whole dollars.		Statement covers period from01/01/2021		CALIFORNIA 460	
				through 06/30/	2021	Page	176 <b>of</b> 195
NAME OF FILER			<u> </u>			I.D. NUMB	BER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			*	1377067	7
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
04/09/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
05/17/2021	Charles Torres Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	2	40.00	
05/21/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	-
06/07/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
06/28/2021	Charles Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
		2	SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

				from01/01/	2021	FORM 400		
				through 06/30/	<sup>2</sup> 2021 Pa	ge177 of195		
NAME OF FILER			<u> </u>		I.D	I.D. NUMBER		
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			13	77067		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DAT CALENDAR YEAR (JAN. 1 - DEC. 31)	E PER ELECTION TO DATE (IF REQUIRED)		
01/04/2021	Maurilio Torres  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00		
01/19/2021	Maurilio Torres  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00		
02/02/2021	Maurilio Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00		
02/16/2021	Maurilio Torres  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00		
03/01/2021	Maurilio Torres Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.	00		
			SUBTOTAL	\$ 100.00				

\*Contributor Codes

IND – Individual COM – Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

		4 to whole dollars.		from01/01/	2021	FO	RM 400
				through06/30/	2021	Page	178 of 195
NAME OF FILER						I.D. NUM	BER
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				137706	7
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
	Maurilio Torres  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
03/26/2021	Maurilio Torres	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	240.00		á
04/09/2021	Maurilio Torres    Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Firefighter City of Costa Mesa	20.00	24	0.00	1
05/17/2021	Maurilio Torres	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
05/21/2021	Maurilio Torres Costa Mesa, CA 92627	IND ☐ COM ☐ OTH ☐ PTY ☐ SCC	Firefighter City of Costa Mesa	20.00	24	0.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND – Individual

COM – Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity)

PTY -- Political Party

#### **Schedule A (Continuation Sheet)**

SCHEDULE A (CO	DNT.	١
----------------	------	---

Monetary	Contributions Received	Amounts may to whole o		Statement covers period  from 01/01/2021		california 460	
				through 06/30/	2021	Page _	179 of 195
NAME OF FILER						I.D. NUN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Act	ion Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	PER ELECTION TO DATE (IF REQUIRED)
06/07/2021	Maurilio Torres  Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	10.00	
06/28/2021	Maurilio Torres  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	24	40.00	
01/04/2021	Brent Turner Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	8
01/19/2021	Brent Turner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	iù .
02/02/2021	Brent Turner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	*)
		_	SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM – Recipient Committee (other than PTY or SCC) OTH – Other (e.g., business entity)

PTY – Political Party SCC – Small Contributor Committee

Amounts may be rounded to whole dollars

SCHEDULE A (CONT.)

CALIFORNIA 4 CO

Statement covers period

,		to whole dollars.		from01/01/2021		FORM 46U	
				through 06/30/			.80 of 195
NAME OF FILER						I.D. NUMBE	R
Costa Mesa Firefighters Association Local 1465 Political Action Committee				=	13770		
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	(IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)		PER ELECTION TO DATE (IF REQUIRED)
02/16/2021	Brent Turner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00		
03/01/2021	Brent Turner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	240.00		
03/12/2021	Brent Turner Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	3
03/26/2021	Brent Turner  Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	
04/09/2021	Brent Turner Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	0.00	=
SUBTOTAL\$					CONTRACTOR OF STREET		

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars

SCHEDULE A (CONT.)

Statement covers period

Monetary	Contributions Received	Amounts may to whole		from 01/01/			FORNIA 460
	a <sup>2</sup>			through 06/30/	2021	Page _	181 of 195
NAME OF FILER						I.D. NUN	MBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
05/17/2021	Brent Turner Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
05/21/2021	Brent Turner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	22
06/07/2021	Brent Turner  Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	+
06/28/2021	Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	2	40.00	
03/26/2021	Dylan Unger Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	E.
			SUBTOTAL	\$ 100.00			
							(Sec.)

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Monetary Contributions Received			Amounts may be rounded to whole dollars.		Statement covers period		california 460	
				through 06/30/	2021	Page _	182 of 195	
NAME OF FILER						I.D. NUN	MBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee				13770	67	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YI (JAN. 1 - DEC.	EAR	PER ELECTION TO DATE (IF REQUIRED)	
04/09/2021	Dylan Unger Costa Mesa, CA 92627	XIND COM OTH PTY	Firefighter City of Costa Mesa	20.00		20.00		
05/17/2021	Dylan Unger Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1.	20.00	•	
05/21/2021	Dylan Unger Costa Mesa, CA 9262/	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	35 <b>1</b>	20.00	a"	
06/07/2021	Dylan Unger Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	1	20.00	1 ,	
06/28/2021	Dylan Unger Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Firefighter City of Costa Mesa	20.00	=	20.00	· · · · · · · · · · · · · · · · · · ·	
		1.1	SUBTOTAL	100.00				

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH – Other (e.g., business entity) PTY – Political Party

Amounts may be rounded

SCHEDULE A (CONT.)

Statement covers period

Monetary	Contributions Received	Amounts may to whole		from01/01/		CALII F(	orm 460
				through06/30/	2021	Page_	183 of 195
NAME OF FILER						I.D. NU	MBER
Costa Mesa F	irefighters Association Local 1465 Political Act	on Committee				13770	67
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR Y (JAN. 1 - DEC	EAR	PER ELECTION TO DATE (IF REQUIRED)
01/04/2021	Anthony P. Vitello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
01/19/2021	Anthony P. Vitello Costa Mesa, CA 92027	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/02/2021	Anthony P. Vitello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
02/16/2021	Anthony P. Vitello Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	2	40.00	
03/01/2021	Anthony P. Vitello Costa Mesa, CA 92621	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	. 2	40.00	
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA ACO

Statement covers period

		to miloto	a o i i qui o i	from01/01/	2021 F	ORM 400
			2	through 06/30/	2021 Page	184 of 195
NAME OF FILER					I.D. N	JMBER
Costa Mesa F	irefighters Association Local 1465 Political Acti	on Committee			1377	067
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO DATE CALENDAR YEAR (JAN. 1 - DEC. 31)	PER ELECTION TO DATE (IF_REQUIRED)
03/12/2021	Anthony P. Vitello Costa Mesa, CA 92627	XIND COM OTH PTY SCC	Fire Engineer City of Costa Mesa	20.00	240.00	e
03/26/2021	Anthony P. Vitello Costa Mesa, CA 32021	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00	
04/09/2021	Anthony P. Vitello Costa Mesa, CA 92627	IND  COM  OTH  PTY  SCC	Fire Engineer City of Costa Mesa	20.00	240.00	
05/17/2021	Anthony P. Vitello Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00	
05/21/2021	Anthony P. Vitello Costa Mesa, CA 92627	☑IND □COM □OTH □PTY □SCC	Fire Engineer City of Costa Mesa	20.00	240.00	
	,		SUBTOTAL	\$ 100.00		

\*Contributor Codes

IND -- Individual

COM - Recipient Committee

(other than PTY or SCC)
OTH – Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA AGO

Statement covers period

				from01/01/	2021	FC	RM	400
				through 06/30/	2021	Page _	185 of	195_
NAME OF FILER				W -		I.D. NUM	BER	
Costa Mesa Fir	efighters Association Local 1465 Political Acti	on Committee				137706	7	8
RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR	TOE	ECTION DATE QUIRED)
	Anthony P. Vitello Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	24	10.00		
	Anthony P. Vitello Costa Mesa, CA 92627		Fire Engineer City of Costa Mesa	20.00	24	10.00	UT.	
	Taylor Voss		Fire Captain City of Costa Mesa	20.00	24	10.00		
	Tavlor Voss Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	10.00		
· · · ·	Taylor Voss Costa Mesa, CA 92627		Fire Captain City of Costa Mesa	20.00	24	10.00		
			SUBTOTAL	100.00				

\*Contributor Codes

IND – Individual COM – Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded to whole dollars.

SCHEDULE A (CONT.)

CALIFORNIA 160

Statement covers period

				from01/01/	2021	FORM '	<b>400</b>
	a a constant of the constant o		24	through 06/30/	2021	Page 186 of	195_
NAME OF FILER					-	I.D. NUMBER	
Costa Mesa Fi	refighters Association Local 1465 Political Acti	on Committee	10			1377067	
DATE RECEIVED	FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CONTRIBUTOR CODE *	IF AN INDIVIDUAL, ENTER OCCUPATION AND EMPLOYER (IF SELF-EMPLOYED, ENTER NAME OF BUSINESS)	AMOUNT RECEIVED THIS PERIOD	CUMULATIVE TO CALENDAR YE (JAN. 1 - DEC.	AR TOD	ATE
02/16/2021	Taylor Voss Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
03/01/2021	Taylor Voss Costa Mesa, CA 92627	⊠IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
03/12/2021	Taylor Voss	IND  COM  OTH  PTY  SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
	Taylor Voss Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	
04/09/2021	Taylor Voss Costa Mesa, CA 92627	IND □COM □OTH □PTY □SCC	Fire Captain City of Costa Mesa	20.00	24	10.00	æ
			SUBTOTAL	\$ 100.00			

\*Contributor Codes

IND - Individual

COM - Recipient Committee

(other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Amounts may be rounded Statement covers period to whole dollars.

from

through\_

01/01/2021

06/30/2021

	CALIFORNIA FORM	460
1		

Page 187 of 195

SCHEDULE A (CONT.)

NAME OF FILER

I.D. NUMBER

Costa Mesa Firefighters Association Local 1465 Political Action Committee 1377067 **AMOUNT** PER ELECTION **CUMULATIVE TO DATE** IF AN INDIVIDUAL, ENTER FULL NAME, STREET ADDRESS AND ZIP CODE OF CONTRIBUTOR CONTRIBUTOR DATE RECEIVED THIS TO DATE CALENDAR YEAR OCCUPATION AND EMPLOYER (IF COMMITTEE, ALSO ENTER I.D. NUMBER) CODE \* RECEIVED **PERIOD** (IF REQUIRED) (IF SELF-EMPLOYED, ENTER NAME (JAN. 1 - DEC. 31) OF BUSINESS) 05/17/2021 Taylor Voss Fire Captain 20.00 240.00 X IND City of Costa Mesa □сом Costa Mesa, CA 92627 Потн □ PTY □scc 05/21/2021 Taylor Voss Fire Captain 20.00 240.00 **⊠IND** City of Costa Mesa Псом Costa Mesa, CA 92627 Потн PTY □scc 06/07/2021 Taylor Voss Fire Captain 20.00 240.00 X IND City of Costa Mesa □сом □oтн **□**PTY □scc 06/28/2021 Taylor Voss Fire Captain 20.00 240.00 X IND City of Costa Mesa ПСОМ Costa Mesa, CA 92627 ⊟отн □ PTY SCC СОМ □oтн □ PTY □scc SUBTOTAL\$ 80.00

\*Contributor Codes

IND - Individual

COM - Recipient Committee (other than PTY or SCC)

OTH - Other (e.g., business entity)

PTY - Political Party

Schedule D SCHEDULE D **Summary of Expenditures** Statement covers period CALIFORNIA Amounts may be rounded **Supporting/Opposing Other** to whole dollars. **FORM** 01/01/2021 Candidates, Measures and Committees through \_\_06/30/2021 Page 188 of 195 SEE INSTRUCTIONS ON REVERSE NAME OF FILER I.D. NUMBER Costa Mesa Firefighters Association Local 1465 Political Action Committee 1377067 **CUMULATIVE TO DATE** PER ELECTION NAME OF CANDIDATE, OFFICE, AND DISTRICT, OR DESCRIPTION DATE TYPE OF PAYMENT AMOUNT THIS CALENDAR YEAR TO DATE MEASURE NUMBER OR LETTER AND JURISDICTION, (IF REQUIRED) **PERIOD** (JAN. 1 - DEC. 31) (IF REQUIRED) OR COMMITTEE 06/30/2021 Joe Kerr 2,200.00 2,200.00 X Monetary County Supervisor Orange County Contribution District 5 □ Nonmonetary Contribution Independent Expenditure X Support Oppose 03/01/2021 400.00 Rex Richardson 400.00 X Monetary City Council Member Contribution City of Long Beach District 9 □ Nonmonetary Contribution Independent Expenditure ☐ Oppose 

4	☐ Support	Oppose	Expenditure			
				SUBTOTAL \$	2,600.00	
				1		

Contribution

Nonmonetary
Contribution

Independent

#### **Schedule D Summary**

1. Contributions and independent expenditures made this period of \$100 or more. (Include all Schedule D subtotals.)	\$ 2,600.00
2. Unitemized contributions and independent expenditures made this period of under \$100	\$ 0.00

3. Total interest paid this period on loans. (Enter amount from Schedule B, Part 1, Column (e).)......\$

0.00

0.00

#### Schedule E (Continuation Sheet) **Payments Made**

Amounts may be rounded to whole dollars.

MBR member communications

CODES: If one of the following codes accurately describes the payment, you may enter the code. Otherwise, describe the payment.

Statement covers period CALIFORNIA **FORM** 01/01/2021 from. through 06/30/2021 Page 190 of 195

RAD radio airtime and production costs

SEE INSTRUCTIONS ON REVERSE

CMP campaign paraphernalia/misc.

NAME OF FILER

I.D. NUMBER

Costa Mesa Firefighters Association Local 1465 Political Action Committee

\* Payments that are contributions or independent expenditures must also be summarized on Schedule D.

1377067

CNS campaign consultants CTB contribution (explain nonmonetary)* CVC civic donations FIL candidate filing/ballot fees FND fundraising events IND independent expenditure supporting/opposing others (explain)* LEG legal defense LIT campaign literature and mailings		d appearances ses ating urvey researd very and mes		RFD returned contributions SAL campaign workers' salaries TEL t.v. or cable airtime and product candidate travel, lodging, and staff/spouse travel, lodging, and transfer between committees VOT voter registration WEB information technology costs	uction costs meals nd meals of the same candidate/sponsor
NAME AND ADDRESS OF PAYEE (IF COMMITTEE, ALSO ENTER I.D. NUMBER)		CODE O	R	DESCRIPTION OF PAYMENT	AMOUNT PAID
Jimmy Blackman & Associates 1571 Beverly Blvd. Los Angeles, CA 90026		CNS			625.00
Jimmy Blackman & Associates 1571 Beverly Blvd. Los Angeles, CA 90026		CNS			625.00
Jimmy Blackman & Associates 1571 Beverly Blvd. Los Angeles, CA 90026		CNS	Void check	:- ::	-625.00
Jimmy Blackman & Associates 1571 Beverly Blvd. Los Angeles, CA 90026	s s	CNS			625.00
Jimmy Blackman & Associates 1571 Beverly Blvd. Los Angeles, CA 90026		CNS	ů.		625.00

SUBTOTAL \$

1,875.00

#### Schedule E (Continuation Sheet) Payments Made

Amounts may be rounded to whole dollars.

from 01/01/2021 CALIFORNIA FORM 460

SEE INSTRUCTIONS ON REVERSE

Joe Kerr for Supervisor 2022 (ID# 1437130)

NAME OF FILER

Page 191 of 195

I.D. NUMBER

1377067

06/30/2021

through\_

Costa Mesa Firefighters Association Local 1465 Political Action Committee

CODES: If one of the following codes accurately describes the payment, you may enter the code. Otherwise, describe the payment. CMP campaign paraphernalia/misc. MBR member communications RAD radio airtime and production costs CNS campaign consultants RFD returned contributions MTG meetings and appearances CTB contribution (explain nonmonetary)\* OFC office expenses SAL campaign workers' salaries CVC civic donations PET petition circulating TEL t.v. or cable airtime and production costs candidate filing/ballot fees PHO phone banks TRC candidate travel, lodging, and meals fundraising events polling and survey research staff/spouse travel, lodging, and meals independent expenditure supporting/opposing others (explain)\* postage, delivery and messenger services transfer between committees of the same candidate/sponsor POS TSF IND legal defense PRO professional services (legal, accounting) VOT voter registration LEG WEB information technology costs (internet, e-mail) campaign literature and mailings PRT print ads NAME AND ADDRESS OF PAYEE CODE OR AMOUNT PAID **DESCRIPTION OF PAYMENT** (IF COMMITTEE, ALSO ENTER I.D. NUMBER) Jimmy Blackman & Associates CNS 625.00 1571 Beverly Blvd. Los Angeles, CA 90026

CTB

249 E. Ocean Blvd, Suite 670 Long Beach, CA 90802			2,333.133
Olson Remcho, LLP 555 Capitol Mall, Suite 400 Sacramento, CA 95814	PRO		943.20
		40	31
Olson Remcho, LLP 555 Capitol Mall, Suite 400 Sacramento, CA 95814	PRO	= =	1,125.50
	19		
Olson Remcho, LLP 555 Capitol Mall, Suite 400 Sacramento, CA 95814	PRO		445.24

**SUBTOTAL \$** 

5,338.94

2,200.00

<sup>\*</sup> Payments that are contributions or independent expenditures must also be summarized on Schedule D.

# Schedule E (Continuation Sheet) Payments Made

Amounts may be rounded to whole dollars.

 Statement covers period
 CALIFORNIA FORM
 460

 from \_\_\_\_01/01/2021
 Page \_\_\_192 of \_\_\_195

 through \_\_\_06/30/2021
 Page \_\_\_192 of \_\_\_195

1377067

SEE INSTRUCTIONS ON REVERSE

NAME OF FILER

Costa Mesa Firefighters Association Local 1465 Political Action Committee

CODES: If one of the following codes accurately describes the payment, you may enter the code. Otherwise, describe the payment.

MBR member communications RAD radio airtime and production costs CMP campaign paraphernalia/misc. RFD returned contributions CNS campaign consultants MTG meetings and appearances OFC office expenses SAL campaign workers' salaries CTB contribution (explain nonmonetary)\* petition circulating TEL t.v. or cable airtime and production costs CVC civic donations TRC candidate travel, lodging, and meals candidate filing/ballot fees PHO phone banks fundraising events polling and survey research staff/spouse travel, lodging, and meals FND POL postage, delivery and messenger services transfer between committees of the same candidate/sponsor independent expenditure supporting/opposing others (explain)\* TSF IND professional services (legal, accounting) VOT voter registration LEG legal defense

LIT campaign literature and mailings PRT print ads WEB information technology costs (internet, e-mail)

an campaign meratare and mainings		till the state of			
NAME AND ADDRESS OF PAYEE (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CODE	OR DESCRIPTION OF PAYMENT	AMOUNT PAID		
Olson Remcho, LLP 555 Capitol Mall, Suite 400 Sacramento, CA 95814	PRO		1,152.50		
Olson Remcho, LLP 555 Capitol Mall, Suite 400 Sacramento, CA 95814	PRO		793.00		
Olson Remcho, LLP 555 Capitol Mall, Suite 400 Sacramento, CA 95814	PRO		455.5		
Rex Richardson for City Council 2022 (ID# 1435795) 249 East Ocean Blvd., Suite 670 Long Beach, CA 90802	CTB		400.0		
s = = =					

<sup>\*</sup> Payments that are contributions or independent expenditures must also be summarized on Schedule D.

SUBTOTAL \$

Schedule	∍ F		
<b>Accrued</b>	<b>Expenses</b>	(Unpaid	Bills)

Amounts may be rounded to whole dollars.

SEE INSTRUCTIONS ON REVERSE

NAME OF FILER

Costa Mesa Firefighters Association Local 1465 Political Action Committee

1377067

ibes the	payment, you may enter the code.	Otn		
MBR	member communications		RAD	radio airtime and production costs
MTG	meetings and appearances		RFD	returned contributions
OFC	office expenses		SAL	campaign workers' salaries
PET	petition circulating		TEL	t.v. or cable airtime and production costs
PHO	phone banks		TRC	candidate travel, lodging, and meals
POL	polling and survey research		TRS	staff/spouse travel, lodging, and meals
POS	postage, delivery and messenger services		TSF	transfer between committees of the same candidate/sponsor
PRO	professional services (legal, accounting)		VOT	voter registration
PRT	print ads		WEB	information technology costs (internet, e-mail)
	MBR MTG OFC PET PHO POL POS PRO	MBR member communications MTG meetings and appearances OFC office expenses PET petition circulating PHO phone banks POL polling and survey research POS postage, delivery and messenger services PRO professional services (legal, accounting)	MBR member communications MTG meetings and appearances OFC office expenses PET petition circulating PHO phone banks POL polling and survey research POS postage, delivery and messenger services PRO professional services (legal, accounting)	MTG meetings and appearances RFD OFC office expenses SAL PET petition circulating TEL PHO phone banks TRC POL polling and survey research TRS POS postage, delivery and messenger services PRO professional services (legal, accounting) VOT

NAME AND ADDRESS OF CREDITOR (IF COMMITTEE, ALSO ENTER I.D. NUMBER)	CODE OR DESCRIPTION OF PAYMENT	(a) OUTSTANDING BALANCE BEGINNING OF THIS PERIOD	(b) AMOUNT INCURRED THIS PERIOD	(c) AMOUNT PAID THIS PERIOD (ALSO REPORT ON E)	(d) OUTSTANDING BALANCE AT CLOSE OF THIS PERIOD
Smart & Final 707 West 19th Street Costa Mesa, CA 92627 In-kind contribution to Foley for Mayor 2018, FPPC ID #1397432	СТВ	214.51	0.00	0.00	214.51
Costa Mesa Firefighters Association Local 1465 2001 Harbor Blvd., Suite 240 Costa Mesa, CA 92628	WEB	1,000.00	0.00	0.00	1,000.00
Costa Mesa Firefighters Association Local 1465 2001 Harbor Blvd., Suite 240 Costa Mesa, CA 92628	cis in kind concribution of Social Media Advantisements to Foley for Mayor 2018, FPPC ID #1397432, Chaves for City Council 2018, FPPC ID #1401504, Marr for City Council 2018, FPPC ID #197147, Azils Reymolds for City Council 2018, FPPC ID #1401298	981.46	0.00	0.00	981.46
* Payments that are contributions or independent expenditures must also be summarized on Schedule D.	SUBTOTALS	2,195.97	0.00	0.00	2,195.97

#### **Schedule F Summary**

- Total accrued expenses incurred this period. (Include all Schedule F, Column (b) subtotals for accrued expenses of \$100 or more, plus total unitemized accrued expenses under \$100.)

   INCURRED TOTALS \$

   Output (a) subtotals for account and account acc
- 2. Total accrued expenses paid this period. (Include all Schedule F, Column (c) subtotals for payments on accrued expenses of \$100 or more, plus total unitemized payments on accrued expenses under \$100.) PAID TOTALS \$

Schedule	2			SCHEDULE I	
	eous Increases to Cash	Amounts may be rounded to whole dollars.	Statement covers period from 01/01/2021	california 460 form	
SEE INSTRUCTION	NS ON PEVEDSE		through 06/30/2021	Page 194 of 195	
NAME OF FILER	NO ON REVERSE			I.D. NUMBER	
Costa Mesa F	irefighters Association Local 1465 Political Action Committee			1377067	
DATE RECEIVED	FULL NAME AND ADDRESS OF SOURCE D (IF COMMITTEE, ALSO ENTER I.D. NUMBER) DESCRIF		SCRIPTION OF RECEIPT	AMOUNT OF INCREASE TO CASH	
02/17/2021	Orange County Professional Firefighters Assn. Local 3631 PAC 950925) 1342 Bell Avenue, Suite 3A Tustin, CA 92780	(ID# Reimbursement fo	r Stock Photos	250.00	
	U				
	¥36				
			N.		
=				,	
¥(					
Attach addi	itional information on appropriately labeled continuation sheets.		SUBTOTAL	.\$ 250.00	
Schedule I	Summary		W		
1. Itemized in	ncreases to cash this period.		\$\$50.0	<u>o</u>	
2. Unitemize	d increases to cash of under \$100 this period		\$0.0	<u>o</u>	
3. Total of all	interest received this period on loans made to others. (Schedule	H, Column (e).)	\$0.0	<u>o</u>	
4. Total misc	ellaneous increases to cash this period. (Add Lines 1, 2, and 3. Page. Line 14.)	Enter here and on the	TOTAL \$ 250.0	0	

### Additional Comments For Form 460

	CALIF	ONAL CON FORNIA ORM		460		
=	Page	195	of	195		
	I.D. NUMI	BER				

		01
NAME OF FILER	I.D. NUMBER	
Costa Mesa Firefighters Association Local 1465 Political Action Committee	1377067	

Schedule A - Costa Mesa Firefighters Association, 2001 Harbor Blvd., Suite 240, Costa Mesa, CA 92627 is the intermediary all contributions.